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PRINCIPLES OF ACCOUNTING PAPER |

MODEL PAPER FOR ANNUAL EXAMINATION, 2024

OBJECTIVE TYPE

TIME ALLOWED: 30 Minutes

MAXIMUM MARKS: 20

Q. 1 Note: Four possible answers A, B, C and D to each question are given. The choice which you think
is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or

filling two or more circles will result in zero mark in that question.

o 0t il o alen S Vs 0 S 13 O 8 0 5 09 (o ot ) Sl gr Sy S s 10
S S g S CS L S g 58 (g 0al) e ) i s e O b S e 58 ¢ i Allaa ilkaa S Gl g S 2
cBg sguali Bl G g2 0 9Sha (e ) gea

Sufi Traders prepare their accounts on the basis that it will continue to trade in
Which accounting principle is being applied?

the foreseeable future.

Jymal Le S WK Sigl€) 18 S 5 (6 5ls S )3 e a8 Jiliss g aS s 558 Sy iy Gl GEHS) ) 555 5 isen

A. Dual aspect concept

B. Accounting period concept
C. Matching concept

D. Going concern concept

t byl ls &Y

Jyal S @"""JJ"" ,:<' ey sl

Jgal 8 Sy S sl

Sohail is a customer of Jamal. The balance on Sohail’s account in Jamal’s books is Rs. 200 debit. Sohail

sends Jamal a cheque for Rs. 50. What is the balance on Sohail’s account after this transaction?
Saa S 5550 58 Juan dapns - il SS9 ) 200 U2 S5331S1 S Japas (g3a 098 (S Jlan - o3 SSE S Jlas Sy
LS il (e QUS) Sy an S O O O - o L

A. Rs. 150 credit a3 S ) 150
B. Rs. 150 debit Sl 195 150
C. Rs. 250 credit 3 S 95250
D. Rs. 250 debit Sl 39250

The purchase of a motor vehicle was entered in the motor expenses account. What kind of error was this?
Tt ol (oS aud S g 8 S 7 02 e S S Dl 3 Jge 6 )lapa S8 Sise

A. Principle o sl
B. Compensating A
C. Commission 5
D. Omission S Jse

Which item is capital expenditure for a sole trader?
f s Gt e 055 2 S 52l sl aal
LS LY e LS s adbe s L)
A 3 (S Jlarial 3 S SO
EA N ENe S Ol AU Jiis
L::ll_-dq):ﬂ é 8 )a )3

Additional capital brought into the business
Drawings of the proprietor for his own use
Expenditure on the improvement of fixed assets
Expenditure to finance day-to-day expenses

SoEp

The bank statement of a business shows a bank overdraft of Rs. 1640 on 30" September, 2023. At that date

there were uncredited cheques Rs. 380 and unpresented cheques of Rs. 460. What is the cash book balance
at 30" September, 2023?

290380 Spoad gan 5 e g S O L 2 el 391540 5 1640 \S Ko s € S Ly S 52023 i 30

T S oy S S0 A8 2023 et 30 0w =22 460 San 02 S (i il

A. Rs. 1,560 debit Sl 35,5 1560
B. Rs. 1,560 credit S5 < s, 1560
C. Rs. 1,720 debit Sl 1y, 1720
D. Rs. 1,720 credit &% S 29,1720




10.

.

12,

13.

Resources minus Capital equals:

A. Liabilities
B. Assets

C. Revenue
D. Equity

Mr. Aslam invested into business Rs. 40,000 it will be:
551~ S S e s (S 15 13 oly e Sl IS ol S

Credited to Cash
Debited to Cash
Debited to Capital
Debited to Equity

TORP

A credit to an asset means that the asset has:

A. Increased
B. Decreased
C. Purchased
D. Acquired

Book of original entry is called:

Journal
Ledger
Modern book
Pass book

SOwp

Narration is always written :

A. Above the entry
B. Below the entry
C. On the entry

D. Beside the entry

2

= Uy il Al s (e Jils
BEBEPEY
Cila A0
Ol
Csle s

&8 S S
Gl S S
Sl oS e pue

Js\hsduxglh.tscs)saius,ém Sl
Sa3
EEP
S
W dals

= NS QU S il )
aaald 5
o~
QU () 3

&y

<

If the trial balance is not prepared, it is impossible to prepare:

Cash book
Pass book

SRR N

Financial statements

A bill, which is drawn and accepted in same country:

Accommodation bill
Inland bill

Foreign bill

Trade bill

SOWp

Bank reconciliation statement

=2 Ui O5adi U8 L 55 e S L5 3 il 315 80
Seodh
Sy Gulaio )l 5l £
e )si 8 Sl

DS U LS 1 30 (g0 Ko 5 s o
Ja saladl
i Se
i Se e

i SleS

The drawer of the bill allows three additional days to the drawee for payment, these are called:

O S o s G lal (S gl ilal (45 oS Al (e ) S Bl LS (s eaii€ iy

A. Days of rebate O S Sigen
B. Conditional days - P dag e
C. Additional days (9 il
D. Days of grace




14,

15.

16.

17

18.

19.

20.

3

2
A bank reconciliation statement is usually prepared by: )

=2 BS Jli Legas 5SSy Gaibalo )l 54 8
A. Auditor A
B. Banker S
C. Accountant of organization Gutplsi S ol
D. Secretary of organization 35 SW L K
Freight in is a:

S SsomBaide Ko n s
A. Direct expense & o> Gl ol
B. Indirect expense G A b sl
C. Operating expense gAK Dl L, )&
D. Other expense zA A

The statement which shows the financial position of a business at a particular date, is termed as:
=S 2GS il dlla (e (S g8 S 5 )5 pald S ga o)) g 80

A Bank reconciliation statement Sy Gubi o )l 43 &
B. Bank statement S o ) g S
C. Balance sheet Capl ailyy
D. Income statement Ol oy g5 &

Any expense which has been paid in advance, represents:
=258 ol L8 L S 1 Kty ga s L

A. An asset A0 Sy
B. A liability GIM ~ed S
C. Anexpense Z A S
D. A payable expense z o> 1Y) Gl S

Interest on drawings in a business is:
3 3 SR e Sl S

A. Income Ol
B. Asset A0
C. Expense zA
D. Liability $13 aed

Expenditure incurred on advertising a new product is:
=03 S WS L paddS (S gl (a8 g

A. Capital expenditure &> Gsbe oo
B. Revenue expenditure g
C. Deferred revenue expenditure &> Al gl
D. Current expenditure (BEES

The error which affects the agreement of trial balance is:
203 =te N Iy Ciiddae S Gaily i) ga e L)

A. Error of omission hle S S Jae
B. Error of commission shle IS5
C. Error of principle Rl sl
D.

Error of compensation whle S AN
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KEY-OBJECTIVE TYPE

TIME ALLOWED: 30 Minutes

L

MAXIMUM MARKS: 20

1. | D | Going concern concept Jyeal S Sy MS 5ol
2. B | Rs. 150 debit Cul 35,150
3. | A | Principle T Pl |
4. C | Expenditure on the improvement of fixed assets ZA RGN S Ol AU Ji
5. D | Rs. 1,720 credit &3 S 23,1720
6. A | Liabilities Ja1a med
7. | B | Debited to Cash Euld € RS
8. B | Decreased & a8
9. A | Journal aaali 59
10. | B | Below the entry 8 Sl
11. | D | Financial statements o) sd S Ul
12. | B | Inland bill i S
13. | D | Days of grace > o)
14. | C | Accountant of organization Syl S ol
15. | A | Direct expense Eos Sl ol
16. | C | Balance sheet Sl il
17. A | An asset A S
18. | A | Income Ol
19. | C | Deferred revenue expenditure z o> e A gl
20. B | Error of commission ohle 145G )
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SUBJECTIVE TYPE

TIME ALLOWED: 2.30 hours MAXIMUM MARKS: 80

(1)
(i)
(iii)
(iv)

v)

(vi)
(vii)

(viii)

(i)
(ii)
(iii)
(iv)
)
(vi)

(vii)

(viii)

(PART — I Js) ~as)
Write short answers to any Five (5) questions: = Sl g palida S ) ga (5) gy e 88

How would you explain the term “Cash Transaction™?
§8 1S € Cialiny S 230wl S "0 O "
If Assets = Rs. 1,50,000 and Capital = Rs. 1,30,000 then find out Liabilities =?
TOSSI S Clialy D 85 9 290 OV o €SV SO JasS ) ) )V oilag SV SO 30 R
Describe the two forms of compound entry.
RS O U ore 52 S TN S e
What steps would you take to perform posting?
Fé _‘)Suulnimuicﬂécg_)s&-uy
If the total of debit SIde of an account is Rs. 70,000 and total of credit side of that account is Rs. 25,000
then find out the balance and nature of balance?
S S U e 5 5 90 ) o oy B S5y S JS 1S MRS pal gl 2 290 ) e e S JS S S 8 S
fnS pslae Cue o5 (S VS5 Ll O))
Explain Bank Reconciliation Statement.
-2 S Caliny S S Gaaai o)) 55 8
Give four examples of real account.
0 olie Jla (S TS s
What is meant by petty cash book?
€ 3 a S s Sy QS ) B

Write short answers to any Five (5) questions: N Sl s paiiee S OV 3 (5) gy e A

Explain the difference between “Inland and Foreign bill”.
S Caaliay (S 58 Oy S 63y She pe ol Sl
Describe the term “Payee”.
-U:‘_)SL'JI:".‘CM" S0 Jpay
What is the effect of closing stock on final accounts, if given in Trial Balance?
2 Uigy 9 LS g 0508 (puin 1S 0ol 55 50 LE U e (ol i 0 3 ) 81
Make adjusting entry for Depreciation on Furniture.
-0y 0 Sl (S (Kagu by saui
Elaborate the Intangible Assets.
S Caliay (S Sla 0 Jje s
What is meant by Revenue Receipt?
oIS o dsmy e
Write down two examples of capital expenditures.
.%ﬁuﬁﬂi‘)déﬁbi_}i‘djm_}u

Describe two kinds of errors from rectification point of view.

028 Ohp pldl g3 (S pghle udlal S Ko
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(PART —1I 434 ~aa) _ /
Note: Attempt any THREE of the following questions. S Ol s S O Ul s e g i 8 0
4. Journalize the following transactions. CO2 S T e A S 0 O 0 aa Jiie

(i) Started business with cash Rs. 70,000 and building Rs. 1,30,000.
AS g s )b S Dl (S 25) 1,30,000 Ly GAS 5, 70,000
(ii) Purchased goods from Sultan Habib for Rs. 40,000.
| U el (S 255 40,000 s Gkl
(iii) Sold goods for cash Rs. 25,000.
oS Cad g 8 At el S g ) 225,000
(iv) Paid cash Rs. 39,500 to Sultan Habib in full settlement of his account.
o Sl o AAS ISl S S GRS 25,539,500 58 s Gl
(v) Purchased goods for cash Rs. 20,000 at trade discount @ 10%.
OB )A A5y Cule 5 5 )laS e 10 £ S 35, 20,000
(vi) Sold goods on account to Wagqar for Rs. 10,000.
0iS Cdg i Jaal el S ) 10,000 S )45
(vii) Received cash Rs. 9,800 from Waqar in full settlement of his account.
o S8 S8 G S S ey S 259,800 — Uy
(viii) Withdrew cash Rs. 2,500 for personal use.
-0 ) S Jleaid 13 S 952,500
(ix) Paid Salaries Rs. 5,000.
S 1yl A5 455,000
(x) Purchased furniture for cash Rs. 8.000.
Au R a8 e @IS ) )12 8.000

5. From the following particulars, prepare bank reconciliation statement of Yaqoob as on 30" June,
2023.
S8 NS S (Bl 0 ) 9358 1S 2023 (i 30 e Slaglna 5 70 S shay

(i) Overdraft balance as per cash book Rs. 31,600.
230 31,600 Usily 33 5a0 1S S (S
(ii) Cheques deposited in bank but not credited in pass book Rs. 11,000.
i % S e S i OS5 S g Ope S Sy S 25 11,000
(iii) Cheques issued but not presented in bank Rs. 12,000.
8 S U e S O S Gola Sap S 290 12,000
(iv) There was a debit of Rs. 3,000 in pass book for bank charges but not recorded in cash book.
3 e S GRS S G se S Gy el S 5 3,000
(v) A cheque of Rs. 2,400 was received, entered in cash book but omitted to be banked.
=5 Jaer Ul S e (e Sy SIS 703 (e S GBS S 008 ey IS 395 2,400
(vi) A customer deposited Rs. 5,000 into the bank account directly.
508 gan e Sy Gl ol S SIS 455,000

6. Dildar sold goods to Irshad for Rs. 20,000 on 1™ September, 2022 on credit and drew upon Irshad a bill
for three months for the amount. Irshad accepted the bill and returned it to Dildar. On 4 September,
2022, Dildar discounted the bill with his banker at 15% p.a. On maturity, the bill was honoured. Give
entries in the books of Dildar and Irshad.

S ola S 1S 68 ) ol g 3L2) gl oS it g b g sl eladl (S 520,000/~ 58 33 5 jlals 1$2022 jaain S
,--«J-w:uﬁd-'yu‘fbm15E'J‘Jb.;52022ymj-\-mﬁw-'bﬁ)‘dbéﬁdﬁuhc’iw‘ LS e
L_HJSC‘JJJ‘QMJ_,.}ES&’SJLJJIJJJlal)_u_lgﬂu;.‘plaiu.s&)d@)ha)}‘ L_l.‘i'l _;St._UJU\...J
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7. Prepare trading, profii and loss account and balance sheet from the given trial balance of Mr.

Mushtaq as on 31* December, 2022.

o

“OS R S il ) 9) AT LS Gl g a0 e e (S il B 32022 sranid 31 A3 54 (S (B0 Slu

Particulars Debit Rs. | Credit Rs.
Opening stock o jaad Al 60,000
Purchases SIS 90,000
Wages sl 4,000
Sales Return sl g S g 5 1,000
Salaries STPENY 40,000
Insurance A~y 3,000
Furniture Jretpt] 40,000
Building O les 70,000
Debtors Uy ke 52,000
Capital adla yas 1,60,000
Sales S g 8 1,48,000
Creditors ol g3 i B 50,000
Purchases Return =l uA 2.000
Total 3.60,000 3.60.000
Adjustments: S
i. Closing stock Rs. 90,000 =23 90,000 o233 LT
il. Outstanding salaries Rs. 4,000 254,000 o 535 1Y) 2al
iii. Depreciation on furniture @ 10% p.a. 2908 I (Sagu i Ve 2aii 10
iv. Insurance paid in advance Rs. 1,000 LS 1ol iy ~any 355 1,000 alae
8. State with reasons whether the following items are capital or revenue.

(i) Wages paid on installing new machinery.
(ii) Cost of construction of building

(iii) Cost of air conditioning the office.

(iv) Painting expenditure of newly constructed building.

(v) Depreciation on machinery.

(vi) Change of engine oil of truck.

(vii) Legal expenses incurred in an income tax appeal.
(viii) Loss from sale of machinery.

(ix) Old furniture was repaired.

(x) Amount realised from the sale of old furniture.

cllia by O (s ba e 03 78 S (S Ul e g

w8 i) S qaall (S g i S
L&Y S jpand S O jlae

8Y S S IS ) e i

el Al S 508 (8 ) 5SS Slee sad jpasd B
g 3 (5 e

nol Sl ol S8 3

Slal Al G518 5 Ju) LS ST LS

Qe g S Cap i S 6 e

Caga S 9P

s Sy g SRy e U




9. Rectifying the following errors.
i S () (S ophle B3z 0 o

(i) Purchase of goods of Rs. 6,000 debited to furniture account.
Lo S sl pe ATeS S jauib S s S eldl 1y 6,000
(ii)) Purchases book under cast by Rs. 2,000
LSS Gl oS s 3952,000 58 255 Azl
(iii) Sale to Sameer Rs. 7,000 credited to his account.
_ ALy SER K S S Sl (S S Cidg 8 oS jan el (S 35,5 7,000
(iv) Machinery bought Rs. 4,000 posted as purchases.
W Sz nom 36 Sy Sluja S sk —w 23,4,000
(v) Received Rs. 1,000 from Jamal wrongly credited to Jamil.
L8 S € e alleS S dian oS gy —w Jlax S =25, 1,000
(vi) Discount of Rs. 500 allowed to customer have been debited to reserve account.
A8 Lo S &S (e TS S e S Sl cule ) (S 39 500 S S8 S
(vii) The sales book over cast by Rs. 2,000.
LS LS Ol e 1)) w39 52,000 S i gy el 5 )
(viii) Credit purchases of Rs. 15,000 were not recorded in the books.
LS LS Gad oo o 0seS S w s Jlaal (S 2,515,000
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Model Paper Translation of Holy Quran, Part I, BISE, Lahore

I AT P e g it

stlefE Rl L St s I ST

3 2
Objective paper
(10) : st )y

D C B A e
e el ool izl e SURTA | !
Ayatul Kursi Ayat Mubahala Ayat Dain Ayat lhsan The chief of all verses is:
e -~ ~ “ [ . o 2 -
PRy y r'_:') :‘/ —F 4 iy AT i -r’uﬂ/ 4] ;,-fJLr‘,.-'I -
To mingle Give low Bid’at (addition | Riba (Interest) | Interpreted as s war against Allah
measures in Deen) and the Holy Prophet(_k .1} et .lf [
I)’!.__b‘l:.‘l’bb:):
P M Z—UJ}U;;J Z:».':aJmJL LL;[,JI; S A JJL‘" W I sl e 3
&)l <& i e s e g‘:.l_pd/_fu?
Ihiough patience | Through relatives | Through wealth Through We should seck help from Allah in
and Salah ;
_ parents suffg'_l{lg:
e | - - : -
‘N S al SFh | SO | AL Lot ST |
; e
Arabs People of Madyan Scholars | AhleKitab | In Surah Aali Imran, there 1s a /’ i
! special address to the: (' '
TR Mg AL | U e e S e P | I -ﬂw
Saiful Allah Sayyid ush Ameer ul Amin ul Hazrat Hamza is known as: H
Shuhada Mominin Ummah
- 4 . - - o
S e e SeLalk SFAE | el Mt T | 6
Mushm Qaum e Saba Ahl e Madyan Bani lsracl In Surah Aali Imran the best
b
Ummah Ummah has been declared: f " /
- - ; U LP
/E/)’V LE Lesy L iz e n eIy | T —
o g[{ . [( (i ( -
N c¢° 0@ et ot L\'J Vi
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Model Paper Translation of Holy Quran, Part I, BISE, Lahore

Hajj Hijab Salah Jihad Orders revealed in Surah Al Anfal
are mainly regarding:
LufAJT | ZEAG Lsleps Lsred Wi éd Lt oy | 8
:g.l;f
Aal e Firaon Bani Israel Qaum e Aad Qaum e In Surah Al-Anfal the people of
Samood Makkah were warned by the
- consequences of:
s, r " " Ll
P Ut e 7 e Uil B AU S | O
The The Jews The Mushriks The Christians | In Ghazwah Tabook Muslims were
Hypocrites fighting against:
. - v B & %
Hi S5y « iy Joviy | et f L |10
Surah Al- Surah Al-Fatihah | Surah Al-Taubah Surah Al- The Surah does not include Tasmia
Naml Anfal in the beginning:
// Q‘d\"
: ’Op.
6\(0 ”o‘ ®
‘\Q 187\
o e
of e
ps® Q‘_\s\ AR 2|Page
e° ‘\o‘s




Model Paper Translation of Holy Quran, Part I, BISE, Lahore

J:UL«@/J 1T P it

sl FAS I St st BT
Jtﬁl,p

Subjective Type

(5x2=10) :q_{.&l_.li.'/‘? Lékc_(jf c'_.;ﬁu:'lrd,ibuﬂ/:}dlr

Write short answers of any five questions:

= Ul
How Bani Israel is mentioned in Surah Al- ?.C-.L.T(,/”I’U/-’/ *ﬁ{d: F/'&;,’:?}.Jlbr 1571
Bagarah? ’
Which two Ghazwat are mentioned in Surah Aali . o "o 2
! Tiaf’j{_%ls/nufjul/dlur
Imran?
Why Ghazwa Badr is called Yaumul Furgan? ¢ ST i B .51 3
: ‘é-mf’L:ruJ"-/UU_fJ’|"-.’.’t"/f‘:5'/
What was the concept of Ghaneemat before Islam? ?QJYJU/JL.JLL&&SL"LKG'_(WI 4
- - .y
Why Surah Al-Taubah is Called Surah Al-Baraah? ‘-'L,'TEJ:LJ!‘GH/IGJ"/” s, 5 |
n* g ) el q o A Rt
Write the translation of: " sl &J} Y il ..u':w i1 231l Yl 6
- n T P i L - L TR LT B
Write the translation of? ),C»J’quw‘ -ui"ﬁ,::‘/b” M'L..- (G0} 7
s 2fs w A T ..I. s 283l
Write the translation of: L&S\hﬂ”’“ f ..u.‘.a’g,..ﬁff L;z,&!g-«a)'ciy; 8

(5x1=5) d.'.'d Llf' (Wlaffékc:.&:(a.gﬂd 56»:3/:2_53’

Write the meaning of anyLQuramc words from the following:

Efj'/ P
--J

, _’ s o1 R
I SURY
_.’-./ = by £
4-5 J:._gu

@
LES

JES

(3x5=15) : ﬂi!wlﬂﬁ]ld;&fagﬁd:&n 4/dlr

Write the idiomatic u'anslatmn of anyhh:ec components from the following:

| '.1.-'-')-

| DU 023

2 ey L

P'SLJ J.L-'U‘"b-” wj\..LJl:-r‘ wur’:’ erts

» 2 png 2 257

» r T )
S 3 £UES ) s~ il 4y ok

flv{'

5 23 Ta /J!,=$ -
:Crﬂ" WIS
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Model Paper Translation of Holy Quran, Part I, BISE, Lahore

oA eu Y QU hesBn Esenadedd | i

sy #2388 or g2 a2

&0 aay S5 GRS I8 Gl A BRI EET | v

LI L L N N e N

L:Zi»b':;;:’-:‘\)a,.g@g),e._alﬂuluu g,J:\-ﬁuC!,.n.\J lagal 3 M‘a,-dwnm'g" v

(10): i)u—vli&‘} b’dlf-.fluj L5t S/JLV

Write a detailed note on anyone of the following topics:

o Uy

Write a detailed introduction to Surah Al-Baqarah
in such a way that the features and important

themes of this Surah are clear.

Jlfg{;}@_ﬁgrhj;wyb’sﬂlsm I
_uf'.?xgboﬂﬁf(:mr;_u#;d/;«;r

Write a detailed article on the Battle of Badr and
also explain how this battle is related to Surah Al-
| Anfal.
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Time: 20 Minutes

Marks: 17

™) B e i

Objective (°s >

L2420 =

17 A

r'/ax’l:‘_}fuv .’:._.,r.r’.';/.ug:.J\_)s/’bé’:e.;éz.vidlrﬁJ;QKg_}lz-wée.:D »fA,B,C..':._UJZ.'f;tgﬁJfrﬁ:.‘.J

..g':’n"’bln_.f.?u:(bu’._u!"p(d—///(n-B'LL//{QJ/{JJ- J)r;...fl

J/C.-J\’?L/CL

Note! You have four choices for cach objective type question as A,B,C and D. The choice which you think is

correct; fill thatcircle in front of that question number in your answer book. Use marker or pen to fill the circles.

Cutting or filling up two or more circles will result no mark.

SECTION-A J:J ,v

D C B A QUESTIONS IQJ
i > : ¥ sl
(RN s €7 e - SN SAL At
Pk, | e Cosav e i 'Whalwaslhamasmrotmemmendofanmﬁom 1
Abuse of leisure | Awareness Lack of skills Endurance i civilization? [
- ¢ - & ! fe S b o W e s
. | PRERYI ) P ’,I..-‘” eenliMe | Y s b r 2P|
| By Spiatual By Physscal By Emotional %How is an althlaté taught the mlqueme of amational expression? 2
v | Taining Training Traiming |
- A ——r- ;;;' ey — —
Pt | &2 % &y L el JFE fzind 23 G 3
Eight Hours | Six Hours Four Hours Two Hours How many hours of free time does Otto Romney havel
o | \;';- H“%“'r"r "i"-! C-Qv ““v v‘v 4
dach | Referas Vice Captain Umpire Who takes a imeout m volleyball?
- ™ &A e PPN Pl S sih L S S A2 5
Uiraer Blue Yellow Red Which color flag is raised 15 seconds before the shot put to wam 7
P iy oty N cdean s BUAL . 2w 100x4 K 6
Austalia Sweden Gresce Oenmark The first 100x4m relay race was held in which country?
2o SR Ep Life s te 3 niantig i 7
In food In disease spread | In knowladge In prevention of | What does Mealth Education plays an important role in?
_____ disease
ot Sk - J’i;r LB P EPSPRR NG 1 T
Vacuole Protoplasm Cell Cell membrane |Organisms are made of what jelly-like substance?
J-.;:!‘ i S oo 9’ “oE ’.,_5.'—_‘-’. Ve |.g_’.-:.‘bgv‘.‘_g._'f_,'. 9
Sl Artricle Cover Thorax Caver Vanincle Cover |What is the membrana thal surrounds tha heart called?
g 0L O TR (¢ o ;;"I‘!f J-u}.-ril 5’4.?:’.,.{9;:1, 10
Fapuration Incireulatory In Skelstal In Inspiration | When does the Diaphram contract?
system System
s P A7 2 SUFt te GO I L e g 11
F hr Feat Lordosis Kyphosis Scoliosis Waakness and langthening of the abdomind muscles causes
which defect?
o &r 35"'.::,-1-3" S u;.é#’ymi}.‘p.;.i&..f&ﬂ.gf»_;:w' 12
Muscle Cramp Sprain Muscle Strain Muscles What is it called f some fibers of a ligament are broken?
Soranass
'TERY: ik s £Hi g5 e VAL LY 4
Green Stick Longitudinal Comaunated Depressed | What is called a longiludinal crack in the bone?
Fractire Fracture Fracture Fracture
1.'&.' \.:". \r-'- = d._._’-':' ('45- Q.-'Lf.'\:r;,‘;bg & 14
Fungal General Bacteral Communicable | What type of disease is Smallpox?
Diseases
3,25 3 p2.75 22,50 te drd Jug Sl e L (Eih 15
3,25 meters 3 meters 2.75 meters 2.50 meters | (For Boys) What is the minimum widih of Landing Area in triple jump? )
40 50x18,32 26,50x17,32 6.50x18,32 #5.50x18,32 e orvAedi At el N (Bus) 16
L.50x18.32 m 6.50x17.32 m 6.50x18.32 m 5.50x18.32 m | (For Boys) What is tha t of the goal area in a
Footall field?
L3 i g ss L 'z-dkc:_a- st E N Pas Ut he (KR 17
el Free Kick Comer Kick Indirest Free Kick Penalty Kick | (For Boys) In football, & foul “which the refaree considers
dangerous” is given a free k:cﬂ?
s > &) | g P fedng ‘,z;,u 1.-‘,_92' YR 5 (b ts) 15
f maters 5 meters § 4 melers 3 meters {For Girls) Whal is the minmum herghl of the safely lence in
| discus throw?
2348 28 w18 P e br S F dnibh A (Pl 16
48 cm 28 cm 18 em 38 cm {For Girls) What is the inner diameter of the Netball Ring?
S ; =i 4 te i3l LS I INPE LB o0 17
Na Restnctions Il Nine Seven Four {For Girls)How many substitutons are allowed in Netball match?




1™t (s

i

Subjective e
Time: 02:40 Hours

Marks: 68

LTS T—p

Answer briefly any Eight parts from the followings:
Explam e four problems of the present modarn society,
What is meant by balanced growth?
Movement is an important component i all kslamic worship, explain it.
vhat 1s meant by "Naked A" in Greek Culture?
Whal 15 meant by the "Non-twological Behavior” of recreation?
Brefly explain participatory recreation,
Discuss "Playar Substitution Restrictions” in volleyball,
What funchon does a Libero player m volleyball?
Explain wwa irrsgularities of Service in volleyball.
{For Boys} Why is the "Drop Ball" needed in football?
(For Boys} Why is there a Penalty Kick process occur in football?
(For Boys) Write a short note on Goal Area in football.
(For Girl) Wnte name of the "Match Officials” in Netball,
(For Girl) I what sitluations does the umpire whistle in Netball?
(For Gid) What 15 the purpose of installing Goal Posts in Netball?
Answer briefly any Eight parts Irom the followings:
Define an attempt in the shot put
Oufine “Slop Baard™ in Shot Pul,
Write four laws of Shot Put,
Why s a throwing circle used in Shot Put?
Whnat two Fouls can an athlete make during a 100x4m Relay Race?
Descnbe the “Team” in the 100x4 meter Relay Race,
‘Write down the measurements of the "Baton” in the 100x4 meter Relay Race.
What does “Thamas Wood" say aboul health?
What functions do Nervous Systems perform in the body?
Briefly descrine Portal Circulation in Circulatory System,
How 15 Blood purified in the lungs?
{For Boys) Explain how 1o "Jump" in a Triple Jump,
{For Girl) Whnat two fouls can an athlete commit in Discus throw?
Answer briefly any Eight parts from the followings:
What is meant by Scoliosis?
What is meant by Posture?
Describe the stages of injury.
Why and how do Sprains ocour?
‘What is meant by Sports Injunes?
Write the types ol solt lissue injurias,
Whnat is meant by indirect injury in a fracture?
Wiy does "Serealed Fracture” ocour?

Explain wo causes of measles spreading in our country.

PaﬂJl- 20,04 50 50 00 06 54 08 4 o0 00 o o0 o1 1o

MNoto. Attempt any three questions,
What is meant by Educational Gymnastics? What are the benefits of
Cducational Gymnastics?
Draw a skatcn of volleyoall Court and write down measurements of the
cout,

Draw the Seator of Shol Put with Stop Board and explain why a stop board o 4 %0z, S5 f it/ 2 Ll b

15 nasdad,

How s it possble fo achieve the objectives of Health Education through Lt
Fducational Institutions? Explain it

What is meant by communicable diseases? Write the reasons for the spread
of communicatle diseases in detail .

e Mol B s s e N i

o240 15
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Model Paper 1st year intermediate in Commerce.
Principles of Commerce (Objective %)
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D C B A Questions =iy a
s
ol 197 %u{_.u{ .%;;1!.1_.“5{ MK -{__Jtﬁuﬂd’f);;;w 1
Employment Business, Business and Business |Economic activities includes
profession and| profession
employment
026! Cfﬁ'ﬁ. w 8‘? -f—J!.If(l;*TdJ)LKUVL?LJEMK 2
Utility Satisfaction Interest Profit Income from business is called:
O 1 719 4 (1O 19741 e Afies=| 3
Govt. Service Business Trede Commerce |Industry is a component of
National ngﬂf <A j,)..f;; ISl ssE vgz_fri,}';;,[ﬁfé{.;,;f 4
Organizations Trade Whole saler Business |Facilitates the trade
organizations
22y 2L & wlsyf - V/(TF/':L/):QMB/J}VMB D
Relatives Worker Bank Sole owner |Who provides capital in
soleproprietorship.
e Gl nUd ALK L | 6
40 30 20 10 The maximum number of partner in a
partnership in banking business.
U::-'Iu:_(‘./.'j¢ JL!JK&T/: .&:JE’;‘:H’M': _é.a:bg?.:jéahdiﬁ'ff%dﬂubfuj 7
C&B Joint Stock Partnership | Sole trdership | Which business organization can be
Company dessolved through a legal proceedure
-Gjrl;’ cf:iJLFJ}_/./{JdeL M e MSEr -L,_f?d“_/?ﬁ'dr‘t.rulga 8
All the people Financialy Capitalists | Govt. Institutions | co-operative society is established by
weak consumers
ué’/io'%{ SASF il Kl _F_ﬁ;_,i":,‘flﬁu':.:ufu"" 9
Retailer Wholesaler Importer Producer |Home trade does not include
b S s 7 LS S S A e _.f_r,,ujd'.js,ﬁ'._fﬁ 10
Does not buy or| Less quantity | Abundant Reasonable |A Wholesaler buys goods in
sell quantity quantity
gLl €K ¥ ISP 6L foss? —ebrbernlie oo | 11
Agent Industrialist Wholesaler Retailer | The direct link with the consumer.
f"ngml{_.fﬂf,; < S L J? {_Jlgaz c..,g}i,mr" M = A7 GaTs | 12
Increases and Remains Increases Decreases |Because of imports the demand for
Decrease normal national products:
e Jenf by e byl < 0T G2t LS| 13
Ends Remains Increases Lessers Due to advertising the
un-effected unemployment.
S ot Sy AL & WA 34:»:5“/"':" 14
Courteous | Good Personality Honesty Hard working | Not included in office worker's
personal qualities
Wal ."-‘!’ j,.l_”. /w" -gtigu:‘{'_:..;..:}:/‘?jblégf .| 15
Office Warehouse Factory Home Before selling, agricltural and

seasonal goods are kept in

~/



BOARD OF INTERMEDIATE AND SECONDRY EDUCATION, SARGODHA
Model Paper 1st year intermediate in Commerce.
Principles of Commerce (Subjective /&)

Time: 02 : 10 Hours

Write the answers of any six parts.
Define Business.

(Part

(6x2=12)

What is meant by non-economic activities?
Give any five examples of sole Tradership.

Define Partnership deed.
Enlist the kind of Partnership.

----------

State the minimum number of shareholder of a public limited company.
What is meant by directors of the company?

Define Debentures.

How does the membership of co-oprative society attained.?

Write the answers of any six parts.
Define Home Trade.
Explain the concept of retailing.
What is meant by Chain store?
Define import trade.

(6x2=12)

Which documents are prepared by the exporter after settlement

of affairs?

When does the need arises for the service of a broker.?
How the middlemen plays vital role in increase of trade.”
Where wholesaler starts his business?

Write down four important methods of advertisement.

Write the answers of any six parts.
What is insurance policy?

(6x2=12)

How the Railway transport is the cheapest and reliable

means of transportation.

Explain the concept of warehouse.

Define chamber of commerce.
Define office.

Give four examples of calculating machines.

What is meant by vertical filing?

What type of information will be provided by the seller in

quotation letter.?

Differenciate between busness letter and official letter.

Note: Attempt any three questions.

..............

Discuss in detail the importance of Commerce.
State the adventages of partnership.

Describe the formation of joint stock company.
Differneciate between internal and foreing trade.

Describe the parts of official le
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Note: Four possible answers are given for each question. Fill the corresponding circle with a pen or marker
according to the correct answer from the circles given in front of each question on the answer copy.

D C B A Questions Q-1
S s | Osladl bl i shesl | S OS m  dae S a5 O Pl 2l 1
John Dewey | Plato soqrates | Aristotle fmds |
i Education is the process of physical and '
moral development. Whose opinion is this?
5 4 3 2 o pledl S ailas 2
. There are types of education are
B ey | M | BW G| e 2 53 e Tl shaa ) T i G o |3
General | Psychological Affective Cognitive | It deals with concepts and information.
Change | change change | change
Ju v Jes 5 J g0 J S et ) S Y e S s ol 4
4 Years 3 years 2 Years | Year | After FSc the duration of B.S.Ed is
o il et i ) P e 5
Evolution Education Learning Teaching | Philosophy has a practical side si
o _uilas iaky s PP ot sl Cidia 6
, Society Prophet Universe ~ Allah UP time realty is. |
20 23 24 21 W s s e S e ST
- Human sperm cells have pairs )
sl — S e Zladl e 1S S akia S sl 8
Morality | Politics | Sociology Economics Process to organize the society ,
139-110 109-90 89-80 | 79-70 et U il S Gy langie | 9
_ Average children have average intelligence. |
Sss - Gl [ SIS W S oS ol Sk 8 A Sl |10
Kohler Skinner pavlov Thorndike | Who presented the functional conditioning | |
theory of education? o
O sl S e S Bl i Jaeday sl eden S a0
Plato John Dewey Anderson soqrates = I =
| Development is not quantitative but a
I ‘ complex and disjointed process, it is said.
A o | Jee (o Sla g S gag | Ui bl ge e o S S8 ad S| 12
National National | The National | It is a nation's outlook on life.
Ethics Process | philosophy Thinking
of life
| ) Ul Jae oy = e Sl (S OB S B SIS s 13
' Revelation Intuition Wisdom Senses | Newton's law of gravitation is an example of
this
TP Jlaush RY S 4l o el g o slea S SL [ 14
Russia | Pakistan India | America | The society of this country is socialist. .
oS~y oS S oS | oS b | PN T S T
Province Community City | Town -
sills s Uil bl | BB a8 = 8 el Sl sl S 16
John Dewey | Aristotle Plato sogrates | Which philosopher considered man as a
higher animal?
Nyt | iy adad | Ak il | Pl 9 S O S 1S e S e iy [ 17
lads ) Educational Individual Group | Co-curricular activities are related
Professional Guidance Guidance Guidance

| Guidance |

I




oS gl LN R R P L
Five Four Three two | Counseling is a process
Dimensional | Dimensional | Dimensional | Dimensional )
¢1962 «1964 «1996 «1960 A 19
A text book was established f |
280 Cpads - | o omie Kl S, | 20
Interview | Estimation Measurement | Test | There is a quantitative aspect to the review |
process
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(il ol ple

(1)~

Write short answers to any eight components from the following.

What did Allama Igbal call education?
Write any two characteristics that make teaching effective?

Write a verse about the importance of education in Islam with translation.

What are the two sources of the word education?

What is meant bv Global Village?
How is education helpful in creating cooperation in society?
What is meant by concept reality?
Why do we need medical education?
Write two characteristics of non-formal education?

What is meant by the theory of life?

Miss the three social objectives of education?
Why is home economics education necessary?

Write short answers to any eight components from the following.

list four sanrces nf educatian
What is intuition?

Explain the difference between puberty and growth.
What are genes?

Explain the meaning of individual differences.

Write four factors influencing willingness

What Watson Says About Environmental Effects
What is meant by Learning?

When does Learning become meaningful?

Write down a few ways to draw attention to yourself

TATealtem mumwm Lmn o . W il o i B

Name three psychologists who advocated characterization

Write short answers to any of the following components

Define society?
Wwrite two main objectives of education system in capitalist

What is social compatibility?
Write two objectives of educational guidance

What is meant by consultation?

80 i JS

raiia Selial gl o S8 w22
LS LS S pdad 2 Jdl ade ()

98 s (S g pad Olaa gead 53 (o (S 5(10 )
sl Sl GBlaie S el (S ailal (e 2l
T o 0S8 L 2 S A8 sl Lail(jv)

0 de S by dis(v)

e =S 1 (o slad (e 0 e 213 aulad(vi)
Al e WS s il ) sea(Vii)

1030 oS plal (S ik Gaas(vii)

o gad 53 (S palal ey p(iX)
PSSl R(x)

e SR O S alal (x1)

Dog e (S sl (S USALST b 5z (Xi)

e R e SS e di g 03
O30S e S b (S et W15 i (1)

f = S Olass (i0)

03 S gl g (3 (e g pi gl (Sl

fun s S i (iv)

OIS Ot ke 1S DGR (531 st (v)

saddale Sl g s Sl Ay (Sald (vi)
o S LS a5 A S Jsale (vid)

= e LS s plei(viii)

¥ o Uiy S (el pla (iX)

Eosa N S S dsbe s () S S (x)
WS pad el Jla o (S S i sdi (xi)
Sl e (o (el S Syla S (x11)

wae S el jal g S w ez 4
S i ad (oS s ilaa ()

o A5 8 S 5 3 e ()
fum S =8 Cidillaa 5 pdlaa(iil)

Cioad aalie g3 S Jlab ) aidad (iV)

§ e LS D da (V)

agad 33 S dee S (g Dl (Vi)

Write two characteristics of curriculum development process

What components have the education experts declared as the four pillars of
the curriculum?




L I8 i g S i jSel jal S 5 pldal 0 nla (Vi)
T 7 S S Glal o dSaile Sasa(viii)

What is James Michael's definition of curriculum?
ol & B e e e (i
What are some dimensions of educational assessment? ol l_' ) :::: (ix)
B | k| L):‘:‘i L e J
Identify three problems faced by students in school iy :\_\.., u:u, i)
25 pad Sluagead pd (S (3 aS (Xi
Write two characteristics of a community . b AR S e (xi)
F LS e S yean B el (xi
What is the relationship between education and democracy? C;L‘ s S iy ) (xil)
= 2P =S Al Sl (xiii
List the problems that can be solved through psychological = e (xiii)
guidance 49 Aran
JOEe NP i Se i
Note: Write answers to any three questions i sl 5 -._; n G e oSS
1S e Syl (S peslie S a5

List the elements of education. Explain any two in detail.
< P L il s
What are the main foundations of education? Explain any two. # L onl S QS i o “S £
)LQ.J ?C.'J[)‘L}Sc"d‘; M.JJA;(J:S.?

What is meant by learning by doing? Write the steps for this method.
) DS 2035 1S 1S aalat e Laig g (S 2 pdlaa 8
Write the role of education in the development of society. 3 )
25 52a5 Sl g, (S QIS (e 2 (4219

Write the characteristics of a good textbook.
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NOTE: Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that Bubble in front of that question with marker or pen ink. Cutting or filling two or more

bubbles will result in zero marks in that question.

-

| [ 'VJU’

The leader of Neo — classical school of thought is

Pigou £, (D) Keynes - (C) Marshall
The slope of demand curve is
Capital ..~ (D) Zero  (C)
The cause of rise and fall in demand is
Other Factors /.45 (D) Price =< (C)

When marginal utility is negative then total utility
Demand ¥ (D) Decrease |f (C)
The change in total revenue is called
Average cost ..+’ b+l (B)
Marginal cost /1 ?-"" (D)
The substitute name of law of decreasing return is
Decreasing cost _ii+ -J:G’- (B)
Fixed cost _ie o2 (D)
The cause of contraction and extension of supply is
Price = (D) Technology Gs8 (C)
The demand and supply are equal at
Distance , 2§ (D) Point , ri- (C)
Basic factor of production is
Demand ¥ (D) Land @) (C)
Govt. gives ---------- to public

Subsidy = (D) Export duty Jgi 412 (C)

Equilibrium level of National Income is attained at a point where

Consumption = Investment $£ ..~ = 2~ (B)
Savings = Investment J.§ ../ ==Z (D)

In Pakistan , Coin of five rupee is

Population (7 (B)

Unit ;=7 (B)

Import duty 3;3*7» (B)

Consumption = Savings =% =

Income = Savings+ investment (.§ .\~ + = = 347 (C)

sl ¥ B £
Adam Smith & ¢4 (A)
e b WK s |
Positive =% (A) | i
(oS meay L _J’ '
Demand ¥ (A)
& 7z |
Increases ».. (A)

-l :511*‘,5?_#' Ldrs I

Average revenue (s b-s/(A)

J'. (B)

Negative & (B)
o e DAY

Supply +. (B)
- F et ol J/s’n

Negative (¢ (B)

Marginal revenue J=: 7~ (C)

‘q_rtd:gi‘-bﬂ)’bﬁ—u}fi ;
Increasing cost .J;w/_ff (A)
Constant cost _iie (L5 (C)
ce s S 9 F L s
Income (47 (A)
- Ot 41z des i N
Equillibrium price ;=7 (57 (A)

i Pl S $ix |

Labour = (B) Capital ..~ (A)

X ¢ :'/(l:" ._z;‘;

Tax (A)

U@« L5y :I/c_.i’;).lf? J‘IJAI S

-/ (A)

R K& @g.ﬂdl‘?/},

Near money .; &/ (D) Standard money . S~ (C) Token money . §"k (B) Paper money . $%¥¢ (A)

The phases of trade cycle are

5 (D)

Comparative cost theory was presented by
Heckshar . ~ (D) Ohlin L A4 (C)
---------- is not included in the sources of public revenue.

Fines ..z (D)

Ricardo L ¢, (B)

Defence (s (C)

- L sl L JJL&’
3 (B) 2 (A)
W o e
Marshall L "4 (A)

4 (C)

’ s Y o- e
'L'L.f';(JL’J:-:’AUUM U{_-/.'"’-* —————————

__Tax J?_(A) |

Fees uf-“' (B)

1. . 1

-1 |

-3

-4

-6

-10

-11

-12 |

-13

-14

-15
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PRINCIPLES OF ECONOMICS 11th CLASS 2024 JL{LZ!U&-" J(brl ...;T :J:,JJ;
TIMIE 2:10 HOURS Subjective Part _<l 2#1022 = h“:”J
TOTAL MARSK : 60 (Part -1 d"#") 60 = .'.Vb'
Q. No.2 Write short answers of any Six parts 2x6=12 -f-jﬁ.:.gr:?/z?f_»l:?i .zc_Jf -2/:}.)1:*
Define Macro Economics. _.5{.7 ...gj/." L}/ =\ gf | i |
Write two merits of study of Economics. -@T S8 0 Z sbr L =lfbe | i
Differentiate between consumption of wea'th and transfer of wealth. _é 50 3P S s 2 S| i
Define Demand. &L S v
Explain elasticity of demand. _é.wu: o/...g d,.,ﬂb v
What is meant by stock ? Se sy Ve ol Vi
Define market. - é..u_!/i J S | vii
Explain consumer., -éfls (:z*i' § il ! viii
State law ofdi_m_i_rjEShing marginal utilityf - o -E;’f ...ng Jutir -J:’.w- Ui . ix
Q. No.3 Write short answers of any Six parts 2x6=12 ___{:f =2 A Lz Z a.gf_:gf"\)lr__
Explain total cost. -él =l § &N f i
Define average revenue. S (b i
Differentiate between marginal revenue of marginal cost. _g_-':’éu I A =JU ?“*” ! -J::’; F"' | iii
State law of decreasing return. _{{La _9/5 JJ"’L; JP I v
Define marginal product. LB Y K i 'f"{ LV
Explain monopoly. < é =olos § 6l slel | Vi
Write down conditions of perfect competition. . 2: LF W/ $ A -v"; vii
Define labour. _.’_,10— ....9;}7 u(..-.-'! viii
Differentiate between Rent and Interest. - f»’_f ek J_/;__‘:'_c_i‘_”}_"’ﬁ ix ‘
Q. No.4 Write short answers of any Six parts 2x6=12 _.g‘.:,gm/"—"' P { £ Gf ._4/1‘:;.)!;*
Give two examples of subsidy. ) J:’I‘./ ol i i
Define depreciation allowance. -&f§ b .,Jf,',?-' J ._f'idl J’:r/‘ | ii
Define money. _7-1-'-’...9/‘7 P i
Differentiate between inflation and deflation. ..”_é 5'3 IO Y AR
Explain Recession. - ’_é ..y/‘" J._-;,a::r/ v ‘
Define balance of trade. & ] g ond | i
Write two advantages of International trade. 85 L 0 & oadF S Gt | i
Define Sales Tax. - ﬁf ...._i_-'/7 d/ L,-’g \_5):’ viii
Differentiate between Zakat and Tax. o - é’ Jﬁ/- 9 u”g 595 ix_

(Part =1l p9> dpa>)

NOTE : Attempt any Three questions from this part 3x8=24 _{_d,»,ﬁcfd'.:,wrd.;.df;yw s -

Critically analyze micro and macro economics. Y 17 27 $iF K 22 07 ol J‘

5.4 Jir

= é..".-?l.'n = _r'l/?li 2l ui;f’ J J‘w dl,__f oLy
Explain the law of constant return with the help of schedule of diagram.

Write down the characteristics of land. _éz_} ;:-__Lar‘;; d/chJ

Explain different methods of measuring National income. - é ok &l L J"'.:, AN

f |

% - A ke o T e |
Write the commons of Taxation in detail. -é_§4j b Joot £ S i 5 |

. 7-/:-}IJIF
3_/1}_-J.Irq

6.4 Jr |

S ol |
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CHEMISTRY TIME: 20 MINUTES
MARKS: 17
OBJECTIVE
l. Formula mass of MgSQO, is g/mole:
(A) 150 (B) 120 (C) 130 (D) 140
2. One mole of SO, contains oxygen atoms:
(A) 6.02x10% (B) 12.04x10% (C) 1 mole (D) 3 moles
3. 'The 1odine present in water can be separated by which one of the following techniques:
(A) sublimation (B) chromatography (C) filtration (D) solvent extraction
4. Mathematically Boyle's law is shown as:
(APT=K (B) VI =K (C)PIT=K (D)PV=K
5. Absolute zero is equal to:
(A) 273°C (B) -273°C (C)0°C (D) 273K
6. At Murree hills water boils at:
(A) 98°C (B) 100°C (C) 0°C (D) 50°C
7. Coordination number of Na" ion in NaCl is:
(A) One (B) Two (C) Four (D) Six
8. Quantum number value for 2p orbital are:
(A)n=2, (=1 (B)n=1, £ =2 (C)n=1, (=0 (D)n=2, (=0
9. LElectronegativity values of F, Br, Cl, I are in the order of:
(A)1>Br>CI>F (B)Br>1>CI>F (C)F>CI>I>Br (D)F>CI1>Br>I
10. Standard enthalpy change is measured at:
(A)298K (B) 273°C (C) 273K (D) 373K
I1.In a bomb calorimeter, the reaction are carried out at constant:
(A)pressure (B) Work (C)volume (D) None of these
12. The term pl was introduced by:
(A) Henderson (B) Sorenson (C) Goldstein (D) Thomson
13. The relationship between Kp and ke is given by:
3 An
(A) Ke=Kp (’B)KC--—Kp(%} (CKp=Kc(RT)™  (D)Kp=Kc(RT) ™
14. Two solutions of NaCl and KCI are prepared separately by dissolving same amount of the
solute in water. Which of the following statements is true for these solutions?
(A)KCI solution will have higher boiling point than NaCl solution
(B)Both the solutions have different boiling points
(C)KCI and NaCl solutions possess same vapour pressure
(D)KC1 solution possesses lower freezing point than NaCl solution
15. Electrolysis is used for:
(A)clectroplating (B)manufacture of Al
(C) manufacture of sodium metal (D) all of these
16. Nelson's cell and Down's cell are example of:
(A) clectrochemical cell (B) galvanic cell (C) electrolytic cell (D) none of these
17. Decomposition of nitrogen penta oxide has order of reaction:

(A)zero (B)first (C) second (D) third




Model Paper 11" CLASS —2024 /0

CHEMISTRY SUBJECTIVE TIME: 2 HRS 40 MINUTES
MARKS: 68

Note:  Section I is compulsory. Attempt any Three (3) questions from Section 11

(SECTION -I)
2. Write short answers to any EIGHT (8) questions: 2x8=16
1. Why actual yicld is less than theoretical yield?
il.  Calculate the mass in grams of 2.74 moles of KMnOy (Atomic mass of K=39, Mn=55 and O=16)
iil. Ny and CO have same number of electrons, protons, and neutrons? Justify. |
iv.  What are physical states of matter? Why liquid state of matter is less common than solid and gas
states?
v.  Give two statements of Boyle’s law.
vi. State Joule Thomson effect. Write its application.
vil. What is discharge tube? Draw its labeled diagram.
viii. Why the gases are non conductor at low voltage and become conductor at high voltage?
ix. Give reasons for the production of positive rays.
X.  Why burning of a candle is a spontanecous process?
xi. Define enthalpy of atomization. Give an example.
xil. Differentiate between internal energy change (AE) and enthalpy change (AH).
3. Write short answers to any EIGHT (8) questions: 2x8=16
i.  Define solvent extraction and partition law.
il. ~ What is paper chromatography? Name its two types.
1. Write down the main characteristics of a solvent selected for crystallization of a compound.
iv. Name four types of intermolecular forces and define dipole-dipole with one example.
v.  What are dipole-induced dipole forces?
vi. Differentiate between crystalline solids and amorphous solids.
vii. Define molarity and molality. Give their mathematical expression.
viil. The concentration in terms of molality is independent of temperature but molarity depends upon
temperature. Justify it.
1X.  One molal solution of glucose 1s dilute as compared to one molar solution of glucose. Why?
x. What is meant by activation of catalyst? Give two examples?
xi. Define negative catalyst along with an example.
xii. Discuss autocatalysis with example.
4. Write short answers to any SIX (6) questions: 2x6=12
i.  Bond distance is the comprise distance between the two atoms. Justify it.
ii.  Why the radius of an atom cannot determine precisely?
iii. ITow does atomic radius vary in groups and periods?
iv. Differentiate between reversible and irreversible reactions.
v.  What are K and K, and how these are related?
vi.  Write two applications of equilibrium constant.
vii. Explain the difference between electrolytic cell and voltaic cell.
viil. Differentiate between metallic conduction and electrolytic conduction.
ix. Explain the difference between ionization and electrolysis.

(SECTION -II)

NOTE: Attempt any THREE Questions. Each carries 08 marks. 3x8=24
5.(a) Define molecular formula with two examples and explain relationship between molecular formula and
empirical formula. 4

(b) A gas having a volume of 10dm’ is enclosed in a vessel at 0 ’C and the pressure is 2.5 atmospheres.
This gas is allowed to expand until the new pressure is 2 atmospheres. What will be the new volume of

this gas, if the temperature is maintained at 273K? 4

6. (a) Write down the properties of metallic crystals. e

(b) Define and explain the term Enthalpy and prove that AH = qp, 4

7.(a) What is J.J Thomson’s experiment for determining the e¢/m value of electron? 4
(b) N> and I, gases combine to give NH; gas. The value of K, in this reaction at 500°C is 6x107 Calculate

the value of K, for this reaction. 4

8. (a) Define ionization energy? Give factors upon which it depends. Also give its variation in periodic table.

(b) Dcfine oxidation number and state any six rules for assigning of oxidation number.
9.(a) Differentiate between : i. ideal and non-ideal solution. ii. Hydration and hydrolysis
(b) Discuss any four characteristics of catalyst.

= ok bk e




Model Paper Business Math Class (11t")

Time: 15 Minutes

Marks: 10

Objective

Note: You have four choices for each objective type question as A,B,C and D. The choice
which you think is correct; fill that circle in front of that question number in your answer
book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will

result no mark.

binary system =

[ sr. | Statement A B C 1 D
No | |
| |
1 15 seconds: 3 minutes= 1:12 | 155 31 12:1 i
1 2 Formula for simple interestis: | P(1+i)" p[(] +i)" _1] PRT Pa-i) |
| 3 Commission on the deal of Rs. | Rs.500 | RS.400 Rs.600 | Rs.300
6000 @ 5% =
4 If 3x-2=2x+6 then x= 8 3 5 6
i 1 1
5 Roots of the equation l,% l,-;l; 1 _L_E
2x’ +3x+1=0 are:
6 (1111), -(100), = a1y, | o1, (1110), | (1100),
[ 2
i i Il v
7 Point (—4,-3) lies in quadrant | I1 I
' -0 -
'8 A square matrix is said to be A=24|A=4 A=A d'=-4
skew symmetric if
4x3
9 If order of a matrix A =2x3 Ix4 2x4 3x2 X
and order matrix B =3x4 then
order of matrix AB=
i 1001 (1110)
10 The decimal number 11in (11on), | (101D, (1001), X

//



Model Paper Business Math

Class (11'™)

Subjective
Time: 1:45 Hours

Marks: 40
Q.2.Write Short answers to any six (6) questions:

(i) Divide Rs.60000 between two persons A and B in ratio 5:7.
(ii) Find the value of X if x:750::6:50
(i)  1f 55% of a number is 3000, what is the number.

(iv)  Define ordinary annuity and annuity due.

(V) Find the simple interest on Rs. 50000 for 10 years at the rate of 12% per anuuam.

2x+3 2

x-1 5

(vi)  Find the value of x from the equation

(vii)  Find two consecttive integers whose sum is 41

(vii)  Solve the equation by completing squares x*-5x+6=0
(ix) Define reciprocal equation and give example.
Q.3.Write Short answers to any six (6) questions:

(i) Define even function and give example.
(ii) If f(x)=5x—l{],g(x)

(iii)  Convert (71),, into binary system.

(v) simplify (111101, -0 1101),

(v) Convert(110.11),into decimal system.

7 |
(vi) IfA*[1 ‘ 3:lB= g 2 |,then find AB.
vi - X
9 3

4 5 6

(vii) Define 3 non-singular matrix , give example.

f A P 2-’8-[6 8],thenfind'chevalueofAﬂ‘:’f
| = B=

(viii) 3 4 4 -4

(X} Find X gng ¥ if [H: 1]:[ 2 l]
-3 3y-4 -3 2

~3x+5, then find the values of (f +g)(x) and (f £)Xx).

Q' - { , =
4 a A jUIce llla”U’aCtUI er pl OdUCES 3000 units in a dav er ||p|0¥“|3 15 Wor k?l 5 Wﬂlkill B
g

ours.
g

hours.

(b) Find th
) e compound amount for Rs. 10000 payable at the end of 8 years at the rate 6%

compounded annually,
Q.5. (a) Draw the graphof y=x*-2x-5
(b) Solve the following simultaneous equations
X=y=2
Ix+4y=7

4 5
Q.6. (a)If A =[2 3],‘then find A" and provethat A4™ =1,

(kY Fualuate (11011 (1001 I =
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MODEL PAPER ( MATH ) INTER ( PART - 1) (BISE BWP)
YEAR 2024 AND ONWARD (SUBJECTIVE)
Note: It is compulsory to attempt any (8 - 8) Parts each from Q.No. 2 and Q.No.3 while attempt
any (9) Parts from Q.No.4. Attempt any (3) Questions from Part - Il \Write same Question No. and
its Part No. as given in the Question Paper.
QNo.2 (i) i .S_tate symmetric prc!perty of Inequality .
(i) | Find Condition that one rootof x* + px +q =0
is double the other.
(iii) | From suitable Properties of union and intersection deduce the result
AN( AUB) = AU (ANB).
(iv) | Show that a statement(p A q) — P is a tautology .
(v) [ Differentiate between Inductive and Deductive Logics - i :
(vi) “Define Quantlfiers
l\'lil Evaluate : N | (viii) | If the matrices A and B are symmetric
:' (—1+\’j}5+(—1—\.@)5 :andAB-BA,showthatABis
' ‘ Symmetric .
(ix) | Solve the equation |I (x) | Find the three cube roots of 8 -
x+1 5
I—+ —==- x*x -1,0
| x+1 x 2
{xl} Divide 40 into two parts such that the | {xu] | Show that the roots of equation
i : | sum of their square is greater. | P+ a ) x ~PX~gq=0are rat:onal
II Q.No.3 | (i) | What is Identity ? Give an example .
'7] 3 - s — P————
‘; ' {ii) | How many terms are there in the A.P.is which a; = 11 ,a,=68,d=3?
(i) |1f a,b,c,dareinG.P,Prove thafarb b-c,c-d areinG.P
(iv) | Sum the series: -3+ (- 1}+ 1+3+5+...+a6
b= = S _ D < S S
(v) Find the 5” term of G.P.3,6,12,..... i
{“’” Sumtheserie52+(1-!}+(— ) +. taSterms, ‘
(vii) | The Governor of the Punjab calls a | (viii) | Find the number of the diagonals of a
meeting of 12 officers . In how many | 6—sided figure
|
ways can they be seated at a round !
| table? - - i ]
(ix) | Deflne Equally Likely Events | x) ‘ Using Binomial thearem expand (a+2b }
i Evaluate m correct to three (xii) ! Gt\:e the statement for binomial Theorem
' decimal places. i
Q.No.a | (i) Flnd the Clrcular ‘measure of the angie between the hands nf a watch at4 O’ clock
‘ (i) | sShow that 2 Sin 45 ° + ¥2 Cosec 45° = 3/V2
(iii) _Express Cos60 + Cos30 as products of trignomeltri'c'\"unciions.

)

Ifa+ B +y= 180 then Prove that Cos (a+ B) =- Cosy

(v)
(vi)

]__ (vil)

Without using calculator, f‘nd the values of all trignometric functions of 75° |

Define Period function and perlod of trlgnometnc functions .

Find the Period of Sin 2x

Iy=



’ {wiii) In AABC;ifa=3:C=6; 3;3_60 207, the.n find b -

_— i = e —— r— - L A IE———

(ix) ' State the Law of tangents of triangle.

(x) ' State Heroes Formula

(i) | State the Law of tangents of tnangle

| (xii)  Show that Cos (-x] = n-Cos s X
(xiii) | Show the equatlon Cosec6=2

Part - Il 3 x10 = 30

‘ Q.No.5 | (a) ’ Solve the System ;
i X, +3X;#2%;=3

| AX,+5%, - 3X;=-3

3K, - 2X, + 17X = -4

f_ (b) | Use Synthetic Division to find the values of p and q if x+1 and x - 2 are the

| 3
i | factors of polynomlal X + px +qx+6%6

(5)

Q.No.6 | (a) | Resolve into Partial Fractions
X2+ 2x+2
[ (x3+43)(x+1)(x-1)

i,l. ___,__.___T'_ —5 3 — S =t~ g _:IE)_

b)) fy=1+2x+4x +8x +...
’ ; Wit
(i) Show that x = 5

L (u] Find the interval in which the series is Convergent .

(5)

Q No.7 | (a) | Two cards from a deck of 52 playing cards are drawn in such a way that the ]
card is replaced after the first draw. Find the probability that the first card is
| king and the second is queen.

(b)  Show that ('D +(3) * (Q'I' il ('!E_l)__m gn-1

i Q.No.8 {;)  Prove that ' i

4 3
| Sin — Sm—Sm S"___E

(b) | Prove that (r3-r) Cot -=C

(5)

(5)

(5)|

QNo.9 | (a) | Prove the following |dent|ty. State the domain of 8 in this case .

1-sin 8

= SecO - tan®

| | LA 1+siné

Prove that :

' (5)




|Paper Code : 6191 |

MODEL PAPER ( MATH ) INTER ( PART - ) (BISE BWP)
| YEAR 2024 AND ONWARD OBJECTIVE

Note : Four choices A, B, C,D to each question are given. Which choice is correct fill that circle in
front of that Question No. on the Objective Bubble Sheet. Use Marker or Pen to fill the circles. Cutting
or filling two or more circles will result in Zero Mark in that Question.

Q.No.1 [ The set {0, 1} possesses the Closure property with respect to : '
L (1) | ~ (A) Addition (B) Multiplication (C) Subtraction (D) Division |
(2 ITheSet{O}isa :

(A) Empty Set (B) NullSet (C) Singleton Set (D) Solution Set

(3) The number of elements in power setof {0,1}are: (A) 4 {B} 3(C)2 (D) 1

7 — AR IR . Rl -

.
{1,w,w }isgroup under: |
= . (A) Addition (B) Subtraction {C}Multlphcatnon (D) Division .
| (5) |IfA and B are dlS]OII’lt sets then : {A] ANB = A (8) ANB =B (C) AnB=0 (D) AnB= {0} i

o ]

(6) |I1fAandB arethe roots of 5x - x *2 Othenaand Bis :

2 5
©% ©;

2

| (7) x2+1
| Cq(x)
(8) The discriminant of Quadratic Equation is :
’ (A)dac-b> (B)b° +4ac  (C)a -dsc (D) b’ -dac

will be Proper fraction if degree of q(x) equals : (A) 1 (B) 2 (C) 3 (D) 0 |

| (9) |NoterminGPis: A3 (B2 (91 (D)o
o) IThe fraction ;:12 e (A) Proper Fraction {B)Improper fraction (C) Mixed (D) Identity
(11) | The Harmonic Mean between a and bis
(A 5o () 5 tc)zif, © o |

i —

(12) The 2"" term in the expansion r.:f(1+2)c)1"‘z is: (A)x ___E_Zx {E) 3x (D) 4«x

(13) ]The statement4 >3 +4istrueif : (A) n<2 (B)nz2 (C)n22 (I (D)n<2
(14) | ifnis a positive integer then - is divisibleby : (A)2 (B)3 (C)4 (D)5 |
(15) Co - ratio of Cosine is : (A) Sec (B) Sin {C] Cot (D) Cosec
If Sin 8 < 0 and Cot 8 > 0 , then in which quadrant 8 lies: » ol
(16) @t @2" (©3" "
(17) Domaln of-Cos xis: ' a {A} 4 [E} Q (C)R (D) N _;
‘abc S e '
s 28 (AW B)r2 (O3 (D) R
4& S — — s
-1 1 1 v’? ’“33
(19) | The value of Cos (Tan V3 ) is : (A) 5 (B) — = [c) — {n} - —
(20) | Asolutionof1+Cosx=0is : {A) (B) m {C] 2n {DJ 3n :
i - B L S ————— S—— — e ——————————— S S --—-o-——1

t ﬂ*:_‘::——cw___#_ J | |

\V




MODEL PAPER (CIVICS) INTER (PART-l)  [[Paper Code No. 6171
(BISE BWP) SESSION (2022-2024) & (2023-2025) AND ONWARD

OBJECTIVE
20 s 4 @ 2230 =
alﬂ'a.g)fuuh&ca_.uiPL/UIVJI/..-V.}'.‘Lél’dlfu‘fwf:_z»‘..ffwl:’f_.ﬂ.“_'e.:D C.B A=l Loz 1 2
' -fmr“x\-..-':‘m‘:w_ur‘gd./.g_-f -L/JQ!I'}”LJGJ :.{J/c.-t,‘w.j |} /{../l:

Note : Four choices A,B,C,D to each question are given. Which choice is correct , fill that circle in front of that question

will result in zero mark in that question

number on the Objective Bubble Sheet . Use marker or pento fill the circles. Cutting or filling two or more circlesE

Those who can perform legal and administrative duties : =€_:r|.ri g J;E" 140w}
(A) Citizen u,( (B) ll:acher &1 (C) Lawyers L,—- (D) Pul:tlctm ul.wr— P 1) 3
Types £ Knnw]udg:”e_ : SRSl i e __':_,L;,\;}’; {_2} E
Y e B R D& T —
Flements of Nationality are o lert (3
. @AW e B o (© o4 (D) o3 :
I'he Reason nf Popularity of 1bn- L»Khaldoan is due to w!-u_c—hl S;—b]g c; - P e .,( V;ﬁ" vy _.,(; : :.J-JE.I r (4) _Z
(A) Political Science ;-__vl:— __ (B)Psychulugy:—}ﬂ (C) Socmlug} _..-lrJ/ (D) Economics = '} .......... a
The name of Thinker, who presented the Theory of Patriarchal is - P e (t¥ Piui S Sk ‘)3 (5) :
| Adsiotle #u  (B) Loce /(O SicHenry Maine oy _(P?__”"““’ o R S
The Population of an IdeaI State, set by Rousseau is  : - -:—L,( AT el L ?’J'f (8) E
(A) 5000 (B) 9000 (C) 10,000 (D) 11000 -
Soul of any ‘;t.m- 3 - uu..-i..- u'( ]
- ___(AA)People ¢ (B) Government _/!G (o Sovereignty J;J!J.? (D) I'emtory Sk :
Ayub Khan imposed the Martial Law in Pakistan in : I ¢ R0 Pa .,..tjl?t i L}In-v‘fl (8) ;
W W s (© e ) s Lk
Voter age in Norway : D et (8) i
ww wws @ o»
The Govermnenl ‘iy:lt:IIn-—m Bnla;n is A - - h S - S P B 2 2bel (10) ;
(A) Federal (U:  (B) Presidential (bixs  (C) Parliamentary dL{ (D) Dictatorship "‘{T_&._..!._ %
Pilaiitn ovanasntitaby © i el RS Maasd &) (1) ]
(A) Holland 2z, (B) Aristotle #</ (O Leacock J{) (D) Laski qu :
J\u;cnc;n Constitution was ll‘l.‘l}'il:l.';le:l 1;1"“.” _ I B : IfL—CJtJ Td /i l12} *i
LR T I Nk W B
Most Ancient form of Law is : : = u‘! "4-’ cw L‘J"g (13} E
| () Religion wsi  (8) Customs G (C) Judical Decisions 3l (D) Partiament 2y !
Islamic Revolution came in Iran : i b .:.ﬁlJuruUl;l! {M] 1
(A) 1979 (B) 1977 (C) 1989 (D) 1987 - ) - ]
3I_d..';r:n.c hu;(:wer;u:e_n“s : o s I R ‘,__;f_‘gy,d “5}
(A) Army &7 (B Judiciary < (C) People O (D) parliment .;;«'.J;'L ) :
Ci'.l;a;l:nsllcs of a good Citizen described by Lurd Bryce are
(A o (8) @ © & oy & @@ ]
C(;r;unhl;ll;n.was ;nfnrced in .‘\rr;cnca in - S \;e.;'- o4 .f/' (17 :
(A) 1789 ® am (@ 173 (D) .75 ! 1
*R:f;;;n;;; was .1dc;pted in b ey o (18) E
(A) Tran 2 gisd (B) Switzerland ,t LA (C) Iraq & J/ N (D) America o ”:’il._“.“. ..?.._ _________ :
;dt;;u;_;ge of \f'ol;l.'_i.n“Paklstan g - A £ af S 2 dvf'v | (19) :
) 16Yes U6 @) T¥erws % (O 1Voms b8 (0) Mvears b2 3
First of all , concept of good governance was given : : -n"ifd/ng’iif..-_q (20) :
3 (A) (3p|lahst System ’Llii..b':.i./ (B) Communism I’” (C) Islam (bl (D) West .../*' o I:'
5 |
!
"
L ., 8504 e - !

'3




MODEL PAPER (CIVICS) INTER (PART-I)

(BISE BWP) SESSION (2022-2024) & (2023-2025) AND ONWARD

4 80 3wl Subjective

v e

2130 12

IS fe 2 L (09 S 28 A L8 - 8) L mpa it 34w 240 § Wb P
-f.zw{,,-;{.;”rf i /'e,..-,-f,z,,i,e’;lr ;jn‘-;é'e" Jiz- év"’.; Ulrg;ﬁ—_gjfc_;ﬂru.ﬂ.{.’

Note : It is compulsory to attempt (8-8) parts each from Q.No.2 and Q.No.3 while attempt any (09 ) parts from Q.No.4 and attempt
any (03) questions from Part ll. Write same Question No.and its Part No.as given in the guestion paper.

50=2x25 [ {Part LL;J’L‘;’:

r

} Is Civics Science or Art?

What is the definition of Citizenship ?
How Civics politically train a Citizen?
Describe the meaning of Science.
Describe the meaning of Society.
What is meant by Joint Family?

How has Lord Bryce define Nation?

: Write the kinds of Community.

How an Islamic State is different from a National State?

What is the role of Planning in State Development ?
Explain Welfare State according to Islam.

What is meant by External Sovereignty?

Write down the names of two Aspects of Sovereignty.

! How Abraham Lincoln define Democracy?

 Explain the meaning of Government.

_: What is meant by Judicial Review?

; Write down two Demerils of Dictatorship.

FWhal is meant by Accountability?

 How WoodrowWilson defined Law?

What are the Legal Commentries of the Jurists?
Define Ordinance.

 What is meant by Administrative Law?

| Write two Duties of a Citizen is an Islamic State. P P LG8 L el ) 45U

| What is meant by Human Rights?

:What is the method of "By Naturalization® of acquiring Citizenship? f<.\3 / "slerd ¥ U Lagd (i)

I Describe the meanings of Citizen.

How Austin define the Constitution?

Explain Rigid Constitution.

What is the difference between Written and Unwritten Conslitution?
Define Public Opinion.

What definition of Public Opinion is given by Lord Bryce?

What is meant by Electorates?

Write two Functions of Political Parties.

1
1 Define Indirect Elections.
1

P r—— iy
e LPart-ll) o) o
! (10) _¢/5:,f{q,u:,,l chlfectd o JS/d s 5/
i Define Civics and also elaborate the importance and Utility of Civies .

f(m} Describe in detail the difference between State and Society. -Zulks &2 0/ U2 ofbe o =ty 6’{‘);"
et e Fip 3 T A
i (10) -t{/fukaﬂﬁjééﬁkﬁyﬁfdiﬁ 84

(10) Why Federal form of Government is considered suitable?

Describe in detail duties of Judiciary in a Democratic State.

tet) Lewr st § 6 e i)

e VS pFl e by (vil)

-.";.'d (t LUl £ OB}
_ Ewf § Eu G 3% e Lp £ oL (i)
Define "De Jure" and "De Facto" Sovereignty with reference to Pakistan.
te b/ U con Lfpuid )

i dn el f o odig

1 s = gt g A
| Why the Obedience of Law is necessary for a good Citizen? ‘.'.I*..Ju/ L.-[_.‘"jl E rh c_.[..;;’ & .J:l (v)
ted/ UV LT i)

e AV R LT S Sef iy
w2V § i S

e LuPest ki

- e e

e b et 0 240y |
e pAecs (i)

“E Yk € U ()
...é W ()fu ¥ o fle (v)
e e ot S i)

i

2

‘-'q_..ij:” 4( & .-.-.-rj,;u';" el (ix)
; How Laws are formulated in Islamic State? fur Ll ng 4 L £ erbifit (x)
te IV ke P S s (i)

El.ifcat‘mf.-.wyd'.ﬁ[:{u«:wl (xii)

S e Fn Dby @) 340

R ————

LS ()
ey = 36 Gl )
L& e nd st i)
ety Y o B (il

o, e ?
?Ofﬁ_-ué‘/'dw:‘#d.w’!uj” (ix)

-G Ser ST (i)
fe oy Y e gIF JET (xil)

e e ISP ()

-

S Y K GF V)

Lol ‘J’A-g,:,' (vii)
-_&/MU;&J;.E_L' (ix)
fe sip l;-( o e b (xi)

- S oS LI (i)

-

H 1
E(lo} Cgfealunp B L b SE S i 9 )

Explain different methods to formulate and express public opinion .

|




Model Paper Statistics Intermediate Part-|

(Objective)

Total Marks: 17 Time Allowed: 20 Minutes

Q.No 1: Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

1

The branch of statistics which deals with decision making about populationis |

AT TDescriptive | B [Inferential | C| Applied | D | Theoretical
2 | The representative part of population is
A[ Variable | B | Constant C] Attribute | D] Sample
3 | Sorting f letters in a post office is an example of ’
A| Classificatio [ B| Tabulation | C| dichotomy | D ogive
n
4 | Difference between class boundaries of a class is called
A Class B| Classmark | C| Frequency | D[ Mid-point
interval
5 | Cumulative frequency is used in the formula of
L [ Mean | B | Median | C| Mode | D| G.M
6 | Which of following may have two or more values?
A G.M B | Mean [C] Median | D] Mode
7 | Which of the following is a measure of Kurtosis?
Al S2 | B b1 [ C] b2 | D | as
8 | Measures of dispersions cannot be
Al Equal [B] Unequal |[C| Positve | D] Negative
9 | Fisher’s index numberis a _
A | Simplel.No | B| Unweighted | C | Weighted|.No | D CPI
[.No
10 | The base period changes with the current yearin
A| FixedBase | B| ChainBase | C |FamilyBudget| D | Laspeyre's
Method Method Method Method
11 | The probability of a null event is always
A] 0 [B[ 1 ]C] 1/13 ID] Va
12 | Drawing of two cards without replacement is example of
A | Independent | B| Dependent | C| Jointevents | D | Exhaustive
] events events events
13 | The variable X= No of heads, when three coins are tossed has values
AI 0,1 ] B | 01,2 | C [ 0,123 | D ] 01234
14 | Expected value of a random variable is equal to its
Al Mode B| Variance | C|  Median | D ] Mean
15 | The successive trials in Hypergeometric experiment are
A| Independent | B[ Dependent |C Equal | D| different
16 | The mean of a hyper geometric Distribution is
A nK B K C N D NK
il N nN nk n
PW The number of terms in the expansion of the Binomial ( + ) is
i A N B | n1 C n+1 D 2n
|

CS CamScanncr




Model Paper Statistics Intermediate Part-

(Subjective)

Section |

Marks 68

Time Allowed: 2:40 Hours

Q.No. 2 Attempt any eight parts. All questions carry equal parts.

i~ Describe statistics as a discipline of
science.

i- Name the methods of collecting

primary data,

iii- Define qualitative data with examples

iv- Highlights any two demerits of mean.

"v-- Define the term Harmonic Mean.

vi- Find median for 86,60,88,2540,21.

vii:- Explain the empirical relationship
between mean, median and mode.

viii- The speed of a bus in five intervals is
65,57,67,54 and 35find its average speed.

"ix:- Why Fishers index number is called ideal
index number.

- Define chain index number in your own
words.

xi- Enlist method of construction of CPI.

X- Evaluate the weighted index if
TWI=12610 and YW=100.

Q.No. 3 Attempt any eight parts. All questions carry equal parts.

[~ What are the basis of classification?

ii- Discuss histogram in your own words.

iii- Differentiate between diagram and
.graph.

iv:- Define the term relative dispersion.

v- For a series of 12 values find S.D if the
| sum of squared deviations from mean is 192.

vi:- How will you calculate range from
grouped data?

"vii- write down the formula for comrected
| moments.

viii:- Enlist any four properties of variance.

" ix:- How many possible permutations can be
| formed from the words COMMITTEE?

x- Differentiate between independent and
dependent events.

| xi- Describe the classical and relative

| frequency approaches of probability.

x-1f A and B are independent events with
P(A)=0.2 and P(B)=0.6 find P(AUB).

Q.No. 4 Attempt any six parts. All questions carry equal parts.

' i- What is the difference between a variable
' and a random variable?

ii:-Enlist the values of random variable
X=number of heads when three coins
are

tossed.

lii- State the laws of Expectation.

iv:- How can random numbers be generated?

v IN=52, n=13 and k=12 find the standard
deviation of Hypergeometric distribution.

vi:- Write down the properties of the
Binomial Random Experiment.

Vii- Qescribe the Hypergeometric probability
distribution in your own words.

Viii:- In a Binomial distribution with n=5,
P(X=0)=P(X=1), find the variance.

ix‘:- Describe any two the applications of the
' Binomial distribution.
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Section I

Note:- Attempt any three question.
Q.5:- a.  Avariable Y is determined from a variable X by the equation Y=10-4X. Find ¥

whenX=-3-2-1,0,1,2,3,4,5. And show that = 10-.

b. For the data given below show that G.M>H.M
Group 1-5 6-10 11-15 16-20
Frequency |13 17 20 10
Q.6:- a. For following set of values find C.V. 13,17,20,25,30,35.
b. For the data given below find Pearson's coefficient of skewness
Group 11-20 21-30 31-40 41-50
Frequency |6 27 10 7
Q.7:- a. Compute chain indices for following data.
| Years [ 2010 | 2011 2012 2013|2014 |
Price 27 18 31 39 45 J

b. Five balls are drawn from a box containing 7 red and 4 blue balls. If X denotes
thenumber blue balls drawn from the box, obtain the probability distribution of X.

For the data given below compute mean and variance of the variable X.

X 0 1 2 3

P(X=x) 1/8 3/8 3/8 1/8

Q.8:- a.

b.  Acontinuousr.v. has pdf f(x)=cx O<x<2

compute  i:c ii: P(1<x<2)

Q.9:- a. Five dice are thrown. Determine the probabilities of 0,1,2,3.4, and 5 sixes
b. A committee of size 3 is to be selected from 4 women and 6 men. Obtai.n
theprobability distribution of number of women in the committee

The End
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(P.T.0)

(a) Draw all possible samples of size 2 with replacement from the population consisting of values 3,7
and 10 . Make sampling distribution of sample means and then find its mea n and variance.

Then verify that (YUs =K
2 a’
(i)o's = —
n
(b) Find the proportion of even numbers of the samples of size 2 without replacement from the population
consisting of values 3,4, 5, 6 and 7. Construct the sampling distribution of sample proportions and then
find its mean and variance.
Venify that (i) fp =
pq N-n
==X

_ ) n N—1
Where ‘p’ is population proportion.

(i) 0?5 =

(a) A random sample of size n=50 from a normal population yielded the sample values X =190 and

$% =800. Find 95% confidence interval for L.

(b) For a random sample of 10 from a normal population, ¥ =20 and ' X?=5144. Test the hypothesis that
mean 1n the population is 19.50 at 1% level of significance.

(a) Determine the estimated regression equation Y= a+ bX, given that X =52, Y =237, ¥'(X — X)?=280(
V(X -X)(Y — Y)=9871.
(b) Find the co-efficient of correlation from the following data:
[ X 9 8 7 6 10
Y 17 18 15 12 18

(a) Determine whether the two attributes A and B are independent, positively associated or negatively

associated using the following data:
B p
A 407 58
a | 63 222

If association is present, then find co-efficient of association.

(b) Fit a straight line with origin at 1990 to the following data and find the trend values.
Years 1988 1989 1990 1991 1992
| Profit 600 500 700 800 600

(The End)
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Model Paper |
Intermediate Part-|

ISLAMIC EDUCATION (Compulsory) (NS W P
Q.Paper (Objective Type) (5)0:'3/" ) 244"
Time Allowed : 15 Minutes 2 15 @ =
Maximum Marks : 10 10 /J

ai,f:?:—ruc_.uf_;sf-‘:ﬁf';:'d.ln-f,;,llr_,q/géb’d'ﬁ -iLi D s C'BA ::,..J;?;f'll.s-.::,!!;jr, : Ld
L] " e rror PR . i = -/ - 1’.'?- o
-fﬂj!“’bﬁ.,.lﬁus‘:ou':;,n"dé.f.; O d__./‘/f,!’,u;/bw_tja.h&f _z."J/?’c_.w:_;_l:ZLnﬂJJU'/uf!b/
Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the
answer-book. Cutting or filling two or more circles will result in zero mark in that question.

The first Islamic faith is : fe 0 S e | 1.1

Prophet-hood =/L-» (D)  Prayer ;i (C) Toheed 4>¥ (B)  Day of Judgement =T (A)

The literal meaning of Prophet-hood is : ; . .jy S LI 2

Worship l:/f:.wl_/ (D) Convey message C‘Lfi"-:"l:; (C) Obeyorder tUlsEl (B)  Admit Bl (A)

The“?i:'(}.,.'.«;.a]" of gold is : 3-8 34 WKLy 3
Four Tola L?fg (B) Five Tola L?ég (A)
Eight Tola & ¥ T (D) Seven and half Tola & ¥ &SI~ (C)
s 7 " v
It eliminates all the goodness : oy ¢/ ('7 Kl u);g ry¥| 4
Theft {5 (D) Pride /f (C) Jealousy +~ (B) Backbiting % (A)
The literal meaning of Zakat is : e L] 5

To clean £/Cilw (D) Towash (# (C) To purify L'):J/,_l: (B) To give wealth ks L (A)

How many sons were Hazrat Agra Bin Habis (R.A) : & :d. & L fﬁlpuic/“l.:,/"’ 6
10 (D) 8 (C) 6 (B) 4 (A)
The types of Zikr are : V1 1*’L3! J/ 5| 7
5 (D) 4 (C) 3 (B) 2 (A)
“b3” is the compilation of : ' P A “bL’| 8
Imam Ahmad 14/ (B) Imam Malik LU (A)
imam Bukhari $/64/ (D) Imam Muslim ¢4/ (C)
Total books of Hadith in Sihah-e-Sittah are : t U Je .._.}r/ L’-}’ J oL 0| 9
7 (D) 6 (C) 5 (B) 4 (A)
The author of Saheefa-e-Sadiga is : Ly £ 3sless”| 10

Imam Abu Hanifa 'J,i_-"':fl{‘i.l (B)  Hazrat Abdullah Bin Umr Bin Al-Aas Lfb-’laﬁsf‘g':bﬁl,y‘:./v (A)
Imam Malik ﬂ_ﬁtiﬂl (D) Imam Sufyan Suri aﬁzﬁu.ifif,"l.i (C)

/N
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Model Paper
Intermediate Part-l

ISLAMIC EDUCATION (Compulsory) (EHE W=
( Essay Type ) (i A281)
Time Allowed : 1:45 hours o 45 251 =,
Maximum Marks : 40 40 /LF

( PART-T Jil -2 )

12 2. Write short answers to any Six ( 6 ) questions : ; é = /‘y L ey (6) g J:‘/ 2
(i) Describe example of Aqeeda and action. _é Wk Je - V »! s (i)

(i) What is meant by Oneness in demands of attributes T e K JJ" UPBL (e (i)
of Allah Almighty?

(iii) Write down the literal meaning of Nabi and Rasool. &SP ¢ (iii)

(iv) Describe the bravery with respect to Ageeda-e-Akhrat. __é > J/d»gfc_.i_lﬂf. =714 (iv)

(V) Write down kinds of Jihad. S eod s )
(Vi) What is meant by ‘(e 2 eV = e (vi)
(vii) Write down four aims of Fasting. ' _é _,_!f- w2l sl L viss (vii)
(viii) What is backbiting? S & L = (viii)
(ix) How we can control on terrorism? ut = %47 Lr s J:/..../‘: (ix)

12 3. Write short answers to any Six ( 6 ) questions : : d.g O 4 /“"'. L =y (6) g e J; <3
2 i . 2 -
(i) Write Uswa-e-Nabvi (SAW) regarding kindness of _“Lf'-l_(f & Soivie L 19l =z Uy (i)
orphans.
2% Qi Fo® Eatys.d - - .
(ii) Translateit: - 8851 Haangall Las! : é ~7 (i)

il ) s - e " o
(iii) Write two examples of practical phenomenon -éﬂfu-‘-l"/npr/: wﬁ._v.,uv; g Sre (i)
of equality from Serat-e-Nabvi (SAW).
(iv) Whatis meant by Quranic Tarteeb-e-Nazoliand Sl /e (¢ 3"._,,:”,7131.,4;:»5..;_-»“}&__":’;' T (iv)
Tarteeb-e-Togeefi?

(V) What is meant by Sihah-e-Sittah? il = 2L (V)
(Vi) Write the name of authors of ‘/¢01” and “Tk” . & e £ i L Tl st T (vi)
(vii) Translate the Verse - g Y43 131455 mi}-’ét@.;’.a‘tégg\?l WG L Sh 2 KT (vil)
(viii) Translate the Hadith: _ 423 § 4163 465 p135 MI&:M'J&’ L & 2K (vill)
(ix) Complete the Hadith : S g,..:ai::dt : :éf&;» (ix)
(Part-1l s )
Note : Attempt any TWO questions from the following. _ﬁ,.-_-.i.ﬂ:?f.»._iﬁc.ui.; U‘rg_}’uj.?;ﬂ 2y
8 4. Describe the effects of Ageeda-e-Toheed on human life. iné_‘:’g'g:;!}lé:g;{fﬁ;}l,)! -4

Y i, | '/F...‘/"‘ PR ] o3
8 5. How can effect on human life the individual and ?;,_r?.:.’:mwflf_,/,f.;u;,dwul:’L,fF.';:!u:l/-'s‘:.;L' .5
collective benefits of Namaz?

8 6. Write down a detailed note on the protection of Holy Quran. -__é ._/f < J‘w £ ol ..:J'Ln? -6

< =
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BIOLOGY (OBJECTIVE TYPE) Time Allowed : 20 Minutes
PAPER -1 Maximum Marks : 17
Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,

MODEL PAPER (INTER PART-I)

fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

1-1

A biome is a large regional community primarily determined by the :

(A) Population (B) Organisms (C) Climate (D) Temperature

Amino acids are found in a sequence according to the instructions transcribed on :

(A) tRNA (B) rRNA (C) mRNA (D) DNA

The essential raw material of which the coenzymes are made up of :

(A) Metal ions (B) Vitamins (C) Co-factor (D) Metal activators

A typical compound microscope has the resolution :

(A) 2.0 mm (B) 0.2 um (C) 2.0 um (D) 0.02 um

A vertebrate with backbone, fins and gills is called as :

(A) Amphibian (B) Fish (C) Aquatic mammal (D) BothA & C

What is not true among followings :

(A) Glycogen is storage carbohydrate of cyanobacteria
(B) Glycogen is storage carbohydrate of fungi and animals
(C) Glycogen is storage carbohydrate of bacteria

(D) Glycogen is storage carbohydrate of plants

The ciliates reproduce sexually by :

(A) Oogamy (B) Binary fission (C) Multiple fission (D) Conjugation

Most of sac fungi have asci inside macroscopic fruiting bodies called :

(A) Basidia (B) Ascophares (C) Ascodia (D) Ascocarps

The fruit of Solanum tuberosum is called :

(A) Pod (B) Berry (C) Legume (D) Spadix

10

*Venus® flower basket is the common name of :

(A) Physalia (B) Euplectella (C) Spongilla (D) Hydra

11

‘Portuguese Man of War’ is the common name of :

(A) Physalia (B) Euplectella (C) Spongilla (D) Hydra

In 1 square mm of tobacco leaf the number of chloroplast is :

(A) 2 million (B) 1 million (C) 1200 (D) 12000

13

During ETC electrons are transferred from FADH to :
(A) NAD (B) Co-Q (C) Co-A (D) Cytochrome-b

14

Botulism is caused by :

(A) Clostridium (B) Salmonella (C) Campylobacter (D) Mycobacterium

Name the enzyme which catalyzes the following reactions :
CO; +Hy — H>CO4

(A) Carbonic anhydrase (B) Decarboxylase

(C) Carbonic oxidase (D) Dehydrogenase

16

Which of the following is not present in a sieve tube :
(A) Nucleus (B) Mitochondrion
(C) Endoplasmic reticulum (D) Plasma membrane

The pressure in ventricles rises closing the atrioventricular valves and the semi lunar valves
of aorta and pulmonary artery open during phase of the cardiac cycle called :

(A) Atrial diastole (B) Ventricular diastole
(C) Ventricular systole (D) Atrial systole

b



BIOLOGY

MODEL PAPER (INTER PART-I)
(ESSAY TYPE)

SECTION -1

2. Write short answers to any EIGHT (8) questions :

(i)
(i1)
(i1i)
(iv)
(v)
(vi)
(vil)
(viii)
(ix)
(x)
(x1)

(x11)

Define anabolism and catabolism.

How apoenzyme differs from holoenzyme?

What is active site? Give the functions of its two parts.
Define inhibitors and give examples.

Give two differences in fungi and water molds.

Give one benefit of ergorine and aspergillus.
Distinguish the diploblastic and triploblastic animals.
What is polymorphism? Give example of animals showing polymorphism.
Differentiate the Acoelomates and Coelomates.

Give four characteristics of Phylum Echinodermata.
What do you mean by compensation point?

Define Photolysis. Write its products.

3. Write short answers to any EIGHT (8) questions :

(1)
(i1)
(1i1)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(x)
(x1)

(xii)

Define the terms parasitology and microbiology.

What types of environmental hazards do automobiles and tanneries cause?

Write the functions of plastids.

What is the difference between Microtubules and Microfilament?

Give the discases caused by Trypanosoma and Plasmodium. Write their vectors also.
Write the composition of shells found in radiolarians and foraminifera.

Give one harms of water mold.

What is compare the shell of mollusks and dinoflagellates?

What is photorespiration? Give its importance.

What the structural and functional difference between myoglobin and hemoglobin?
Compare Monocytes with lymphocytes.

How symplast pathway differs from the apoplast pathway?

4. Write short answers to any SIX (6) questions :

(1)
(i1)
(iii)
(iv)
(v)
(vi)
(vit)
(viii)
(ix)

Note :
5. (a)
(b)
6. (a)
(b)
7. (a)
(b)
8. (a)
(b)
9. (a)
(b)

Write down the class and order of corn.

Give two functions of flagellum of bacteria.

Write down the parts sporophyte of moss plant.

Give the structure of gametophyte of Adiantum.

Differentiate the calyx and corolla of mako and rose flowers.

Compare the sessile flower and a sessile animal.

Write the symptoms and cure of anorexia nervosa.

Give two disorders caused due to malfunction of colon.

What is botulism? Give the name of its causative agent.
SECTION - 11

Attempt any THREE questions.
What is hypothesis? How it is formulated?
Explain respiration in cockroach. Also, draw the diagram to support your answer.

Describe the importance of water.
Write any four benefits of fungi.

Give the structure and functional disorders of lysosomes.
Explain the absorption in small intestine.

Explain the rules and importance of binomial nomenclature.
Describe the structure and functions of human heart.

Compare the cell wall and cell membrane of cyanobacteria and eubacteria.
Draw the Krebs’ cycle and explain it brietly.

68

Time Allowed : 2.40 hours
PAPER =1 Maximum Marks :

16

16

12
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Lahore Board ¥

Model Paper

COMPUTER SCIENCE
Maximum Marks: 60 Fime Allowed: 21

Time Allowed : 2:10 hours

S—— Subjective Type

————
———

Section-I

}\"ritv at least SIX (6) short answers of the following questions:

i Convert 512MB into bytes. bxd =12
1. What do you meant by digital convergence?
1. What is Application Software?
v, Define SDLC.
V. How you differ intranet from extranet?
v, What is meant by CSMA/CS?
vii.  What is meant by WAN?
vili.  Define Bandwidth.
IX. What do you know about parallel transmission?
3. ‘Wrilc at least SIX (6) short answers of the following questions: 6x2=12
1. Write down the function of ALU.
i. Why RAM is called volatile?
1. Describe Control Bus.
v, What is meant by IR?
V. How computer can be used in Marketing?
vi. Explain the concept of E-Commerce.
vii.  What is Electronic Shopping?
viii.  Write any two causes of security violation?
ix How does Boot Sector Virus work?
' Write at least SiX (6) short answers of the following questions: 6x2=12
i, Describe Command Line Operating System.
1. What is meant by Desktop?
i Describe Multiprocessing.
iv. What is a Text Editor?
V. What is meant by Full-featured Word Processors?
Vi. What 1s meant by Thesaurus?
vit.  Convert the absolute cell reference formula =$A$1+$B$S into relative cell reference.
viii.  Define Label.
iX. How to worksheet links with each other?
Section-I1
~ote: Attempt any THREE questions.
_ : 2222
5. What is non-Impact Printer? Explain different types of non-impact Printer. 22
2222
6 Define Network Protocol. Describe different LAN protocols.
. 2 ¥,
7. What is data communication? Briefly describe basic components of Data Communication -
2222
8. What is meant by ROM? Describe its different types. o

' auses of ViTus.
g, Taplan different causes of Vi
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COMPUTER SCIENCE Model Paper Class: Inter Part - 1
Maximum Marks: 15 Time Allowed: 20 Minutes
Name: Objective Type

I Note: Write answers to the questions on the objective answer sheet provided. Four possible
answers A, B, C and D to each question are given. Which answer you consider correct, fill the circle
in front of A, B, C or D with Marker or Pen ink to each question on the answer sheet provided.

1 - Which of the following is an example of System Software?
(A) MS. Word (B) Personal Oracle (C) MS. Power Point (D) MS. Windows
) BIT stands for: - o
(A) Binary Tree (B) Binary Digit (C) Binary Integer (D) Binary Interval
| 3 | Each C_OE{;IRI on a network is called a: a o o ]
| (A) Bus (B) Terminator (C) Node (D) Connection ﬂ‘
4 | Which of the f';)ilc_mwag layers ;{anagcs coding schemes during data transmission?
(A) Application (B) Presentation (C) Transport (D) Physical
5 l The Lleulomdgncllu or IJTIT“;» es representing data are called: B I
! (A) Information (B) Signal (C) Sender (D) Frequency _}
6 | Digital signals are commonly called: ‘
(A) Broadband (B) Baseband (C) Narrowband (D) Frequency
Band
| E lu.lronu_gilmk is also called: o o -
1 (A) Cyber banking  (B) Office banking  (C) Interactive banking (D) Global banking ‘
8 " How many types of language translators are there: i
(A1 (B)2 (3 (D)4
9 | Which register contains the base location of the current progr% stack: o -
(A ES (B) DS (C) SS (D) CS 4‘
10 ‘ A secret code -;,_o_nmnng of words. numbers or combination of both is called: o
(A) Biometrics (B) Signature (C) Password (D) Security |
I " The ubjcut of Windows operating system used to perform 5y stem mandgcmcm tasks is: _|
(A) Desktop (B) My Computer (C) Control Panel (D) Windows Explorer
12 J The ability of an (5pera1ing m control the activities of multiple progra—ms at the same time is
j called:
. (A) Multitasking (B) Multiprocessing (C) Multi operating (D) Multi paging |
13 " Which feature of ‘\k’ordecc:‘ssnr_zﬂ_ln;s you to insert text from one file into another file? |
(A) Macro (B) Thesaurus (C) Merge (D) Footnote
14 | Cailing a cell in MS. Excel by |u:t their addresses (like A1, B3) is called: -
(A) Named Ranges (B) Labeling (C) Relative referencing (D) Absolute referencing

15 " The 1-'c"11glh of TP address is:
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Paper Code 2024

Number: INTERMEDIATE PART-1 (11" Class) | Roll No:

[ BHYSICS __PAPER-] __ MODEL PAPER ;
TI:IIE ALLOWED: 20 Minutes [ OBJECIIVE immsuzlﬁ “m': o
Q.No.l | You have four choices for each objective fype question as A, B, C and D. The chojce which you eorrecl,
MHMIIM:thmﬁm-nmﬂhhklhﬂt I.llt-umurpmhmuhhhﬂu-m"
two or more bubbles will result in zero mark in that

s4 QUESTIONS A B € .

1 :ﬂmmmmmnkmbrmﬁ:r

iper with L.C 0.01 cm is
recorded as 0.45 cm. The 20% 0.02 2 %107 20%
percentage uncertainty in the
measurement is:

2 | Dimensions of force and volume [MLT] and (MLT™) |£AMT Jand [MLT?)
i (M°LT*] and [£'] (MLT™] and [MLAT "]

3 | Would
mtpnt}w U T, = 60N, 5L=T; IL>T T, >T
the tensions in  __68 T. = 20N
the given "
figure:

4 | What would be the correct answer 1000N 200N 260N 700N
when two forces are combined
G0ON and 350N?

5 | Howthe " ]
displacement
of vertically & g 1"increase then | 1"decreasethen | 1" increase then 1" decrease then
thrown ball decrease increase constant decrease
ﬂ'iﬂ'lffﬂl -
time as shown
in figure?

6 | When a massive body
(M) suffers elastic collision ;

? One ti Two times Three times Four times
with light statianary body (M) e
then the maximum change in the
final velocity of M, ?

7 | The net loss in work done when
angle between F and d changes 0% 14% 30% 50%
from 0° 10 45°:

8 | The ratio of rotational K E of 1:4 1:8 1:3 1:2
disc tohoop is:

9 Ammﬂﬂtm“ I 1 1 3 l 2 2 1 1
revolving in a circle of very large EW' ;W v Eﬂﬂ- Iy Eﬂ" ymre,
radius then their moment of Same 3 g :
inertia are™ B, | 8 .. | J

i g T

10 | The correct conversion factor ltorr =1.33Nm™ | Olorr =1333Nm> | |0torr=1.3Nm™ | INm™ = ltorr
between torr and Nim ™

11 | Energy in S.H.M is proportional Displacement Amplitude Square of Zero
fo: amplitude

12 | A point on a wave ai a distance
x, Istcrestof the wave lags x 27} [Z.T [l [2;]

L= ) el || —lx
:ﬂndhnhm-nshhqm! 1 {i] 3) x) F]

13 W:lmframspacingiﬁm'ﬂd Increased Decreased Constant 1" increase and
by increasing the wavelength then theit decrente
number of fringes are:

14 | The number of beats per second Frequency of one | Frequency of 2 Frequency None of these
depend on: wave wave difference

15 | In microscope, blue More diffraction | More intensity of | Less diffraction | Less intensity of
light is used lo produce: light Fg_m

16 | Thermal pollution is an incvilable 3 law of Zeroth law of 1™ law of 2 law of
consequence of: thermodynamics | thermodynamics | thermodynamics | thermodynamics

17 [ In which graphical representation, R
there is zero work done: P I b ?i i r‘ :

v v v ¥
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,_m":m‘“wl‘“ﬁ PART-II (11" Class) | 2024 | Roll No:
[#IME ALLOWED: 2.40 Hours [ SUBJECTIVE | MAXIMUM MARKS: 68
| NOTE: Write same question number and its parts number on answer book, as given in the question paper.
SECTION-I
I._Atllllt]:l:ny eight parts. §x2=16
U] “?'H do we find it useful to have two units for the amount of substance, the kilogram and mole?
(ii) | Give the drawbacks to use the period of a pendulum as a time standard
(iii) | Analyse precision and accuracy briefly with one example.
(iv) | How you are going to prove the homogeneity in v=J4 7
) | Name the three different conditions that could make A, x Ay = 0.
(vi) lf}+§= E,whﬂ:lnyuu say about the components of the two vectors?
{vii) | Drawa m and a valid reason of a concurrent force system.
{viii) | Does a moving object have impulse? Give at Jeast one valid reason Lo support your answer.
(ix) | show that range of I is maximum when projectile is thrown at an angle of 45" with the horizontal.
{x) | At what point or points in its path does a projectile have its minimum speed, Its maximum speed? Use diagram to suppont
VOUr anSwer. _
{xi) | An object has 1] of potential encrgy. Explain what does it mean?
(xii) | How would you analyse loss and gain of energy in law of conservation of energy?
3. Attempt any eight parts. Bx1=16
()| How do you prove that centripetal force performs no work? Use mathematical steps (o SUpPOIT yOUur aNSWer.
(i) | When mud fies ofT the tyre of a moving bicycle, in what dircction does it Ny? Explain with a valid reason.
{iii) | How would your claborate the difTerence between real and apparent weight?
(iv) | What is meant by moment of inertia and its significance? Elaborate with the help of equations.
{v) | Two row boats i lel in the same direction are pulled towards each other. lain.
{vi) | How would you analyse Torricelli’s and Venturi's relation with their equalions.
{vii) | What do you understand by the term “resonance sharpness” support your answer with a graph.
{viii) | Can we realize an ideal simple pendulum?
(ix) | Describe some common phenomena in which resonance plays an important role.
(x) | Analyse the patterns of interference and beats for sound waves.
(xi) | How astronomers use Doppler effect to calculate the speeds of distant stars and galaxies?
(xii) | Why sound travels faster in warm air than in cold air?
4. Attempt any six parts. 6X2=12
() | How would you analyse fringe spacing in Young's double slit experiment?
(i) | An oil film spreading over a wet footpath shows colours. Explain how does it happen?
(iii) | How would you manage to get more orders of spectra using a diffraction grating?
(iv) | Why could it be advantageous to use blue light with a compound microscope?
{v) Hwhpowislnﬂﬁnpli:ﬂﬂhuumu;hdhpmim? Explain.
(vi) | Analyse the benefits of optical fibre to humanity.
{vii) | How would you describe the working of heat engine?
(viii) | Does enropy of a natural process increase or decrease? Explain it,
(ix) | Why does the pressure of a gas in a car tyre increase when it is driven through some distance?
SECTION-II "
NOTE: Attempt any three questions. IxBE=24
S(a) | How would you analyze horizontal and vertical component of velocity for projectile motion.
Use vertical component of velocity for deriving a relation for its height. 2+3=%
(b) A load is suspended by two cords as shown in figure. ] ) 3
Determine the maximum load that can be suspended "
at point N, il maximum breaking stress of the cord is SON.
W
6.(a) | Derive relations for quantization of frequencics of stationary waves in streiched string. 5
(b) | A brick of mass 2.0 kg is dropped from a rest position 5.0 m above the ground, 3
What is its velocity at a height of 3.0 m above the ground? :
743) | How would you create artificial gravity in a space ship and derive a relation for its frequency, [+3+1=5
also analyze the relation logically?
(b) | A simple pendulum is 50cm long. What will be its frequency of vibenation at a place 3
where g =9.8ms™.
8.(a) | Draw the story of all thermodynamic processes used in Carnot Engine in a graph. Brielly explain all steps [+2+1+1=5
and derive a relation for efficiency of Carot Engine, Also state Carnot’s theorem, .
(b) | What gauge pressure Is required In the city mains for a stream from n fire hose connected the mains toreacha 3
vertical height of 15.0m.
9.(3) | Give an analysis in working of Michelson's Interferometer by fixing vertical mirror Af, and varying the 1+3+1=5
position of horizontal mirror M. Also glve application of interferometer and analyse the formula for
calculation of wavelength of light.
) | A glass light pipe in air will totally internally reflect a light ray ifits angle of incidence is at least 39°. What 3
is the minimum angle for total internal reflection il pipe is in water? (refractive index of wuter = 1.33)
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You have four cholees for sach objective type question as A, B, MMM}WF aNe
CandD. mmmmmhmmmmmnmummmmw.nmmw "

marker or pen to fill the bubbles. Culling or filling mwmhuﬁhluﬂmullhmmm In that question.

D c B A Questions / =il Sr.No.
Biology Physics Astronomy Sociology | Which discipline s a Social Science? 1
=gp opd =4 i/ teid oo
Walking Reading Sleeping Telephone talk |Exsmple of Social Interacfion is: 2
v by v syl e JOdSE
French Latin Greek English mm'sudmu'hmmm? 3
oY it Jeg yzfi te s "
Culure | Social development| Social change | Social problem |Over population is: 4
e it P — -
Temporary Formal Strong Somelimes Inleraction between individuals of primary 5
i 7 ’s & |eoups: et St n iz
Come Durkheim Machaiver C.HCooley |The concepl of secondary group was 6
Lif L Lt L4 SfG.y |inroducedby: rbulsie
Desert Village City Jungle Social change is high in: 7
S Luif L uﬂg“ ..q..bm}.u‘q]l;h-
Doctor Man Young Oid Achieved status is: 8
Fis e A2 i IPSC v
All these Cuttural Education Economic Iwﬁmﬁmﬁnﬂmmmh ]
-, 3¢ & b |crangect -cdw swieSiebaolfis
Eight Six Four Two How many types of sociely are? 10
i - i » e e
None of these Values Mores Folk ways Respec! of parenis is a kind of norms: 1"
BAN A A Al sent P O
Four Three Two One The types of stalus are: 12
& o » o B e
Business Job Residence Complex whole |Cullure is a . 13
Aok =i J s 2l Sixd
Five Four Three Two Types of social norms are: 14
&4 % o » T T
Criminal Devian! Murderer Delinquent A person who violates the law is called: 15
oA 57 JE 1l B3 R T T
Frve Four Three Two ° |How many types of educalion are? 16
‘i 4 £ i ufmfe,
Politics Economy Recreallons Family Elections belong to: 17
P Py P =gl .?.J’?.;I,I""l
Rala Siatus Competition Accommodalion |Adjusiment with environmenl is called: 18
= — 2 el ..;.JM.:J:&-M:H
All thesae Medal Roverd Pralse Posilive sanclions aro Include n: 19
Uy s i 4 e Sl
Fout Thion Two Ono For Social nction minimum number of 20
oy o " i individuals is required: :
e L LS g
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ALLOWED: 2.30 Hours &230 = | SOCIOLOGY PAPERJ | T U
SUBJECTIVE & | maximum marxs: 80 80 = AF
| NOTE: Wrie sama quastion numbor and Its part number on snawar book, % ghvan In the question paper. MMJ
SECTIONA iLe
2. _Aniempt any sight parts. | te=2x1 EfeprLindedl 2w
) [Define Sociolagy LAl |
(1) |What is meant by Urban Sociology? tetpfectifid | @
(i) | Define Science LAl | W
(v) | What are the duties of Probation Officer? AL AR | )
tv) | Define Social Action LAz | v
(vi) | Which is catled In-group? 2 Z Lu/dh | i)
(vii) | Describe four elements of Social action. Lol S | (i)
() | Whal is meant by Rele? tedpfe sl | ()
(x} |Givewo examples of ascribed status. L rnfmfinitie | 10
() |Define Achieved Status. AR
() | Define Secondary Group. i |
3. Atiempt any eight parts. | te=2x2 B lndedd A
@) __|Define Mores Ly | W
(1] |What Is the difference between Format and Informal Norms? te JL e Udnds | )
() |Gwe two examples of Mores nftanf iy | ()
(W) |Describe the definition of Laws. okl | ™
tv) | Deseribe the definition of Society Lkt | W
() | Write own iwo measures of Socis! Control. ~Efe mlszite | 1)
(vi) | What is meant by Family? te e il | (vi)
twit) | Define Political Institution - Aflmge | (i)
()  |What is meant by Culture? testfe i | ()
jx) | wnat is meant by Socia! strabfication? L e
() |Define Social Mabiy. ~E 3 Alei e | )
{xi) | Deseribe four types of Social Norms. ~Eofoveles it | o)
4. Attempt any nine parts. | 18=2x0 Lfelomicdf Addr
M | Write down two charactenstics of culture. il | 0
() |Wmien is calied Formal social controt? e Lwdled | W
{#) | Write down two reasons of cultural vanabilies. Leppmf=iBgs | @
iiv) | Write two functions of palitical institution Zf bl g |
(v) | wnat is sociat change? ey Fiie | W
(vi) |What is meant by Patriarchal family? tesfevtdog | (W
{wi) |VWhat is meant by Role conflict? te s e st | o)
{vil) |Wnat is meant by social deviance? festpife JtAd S | i)
(=) |Descrbe two dements of caste - =i | ()
151 |write the names of three sociel problems Ll fdtnd |
te] | Write the caste system of Hindus WL S | Do)
() |Define Socs! Insteution L Ahwde | pon
(r=) |Virte two dsadvantages of Ethnocentnsm EofuSelaa” | pom
SECTION-Il e
NOTE: Amemgt any three questions. 3W0=10x3 LSl atntenl 2l
5 |Expian te fetas of Seoology Haouwmbnleps | 5
6 |V e Soosl Group? Describe ns thioa ypes eIl o te /e | 8
7 |Virte pe cavses of Bouat Devianca I ATNETAE
8 |Descrtm charactenstes of Modarn Sicciely R (e
6 |Doscrze me determinants of Cuttural Undommity LMl aluds | 0




Q.No.

Model Paper - Intermediate Part First - 2024 & onward

ENGLISH (Compulsory) (Objective Part)
Marks: 20

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill the

Time: 30 Minutes

objective type question paper and leave other circles blank.

1 relevant circle in front of that question number on computerized answer sheet. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero marks in that question. Attempt as many questions as given in

Choose the correct option of the underlined words from the columns A, B, C and D and fill up the bubbles:

S.# Questions A B C D
1 | All this furor over a meaningless button. Rage Horror Intrigue Upset
2 WNorma picked up the card Instinctively | Knowingly | Doubtfully | Probably
3 | He was drenched in the hotness of his fear. Escaped Pushed Found Soaked
4 | He said in a most exasperating tone. Irritating Daring Loving Shocking
5 | It was only remained to inaugurate him. Initiate Appreciate | Castigate | Depriciate
6 | It was a half night, a perverted darkness. Blackened | Illuminating | Distorted Old
7 | Molvi Abul took a momentous decision. Useless Tiny Trivial Important
8 | People converged on the Mall. Gathered Diverged |Disappeared| Diverted
9 | He is either a lunatic from earth or a spy. Intriguer Crazy Soldier Protector
10 | There is not a ripple in her tread. Style Running Veil Walk
Choose the correct option for the following columns A, B, C and D and fill up the bubbles:
S.# Questions A B C D
11 | Who returned the pocket book? Hubert Manana George Mayer
12 | The King was famous for: Justice Cruelty | Weakness | Wickedness
13 | The farm was ringing with clamour of: Bell Drums Tin Gong
14 | Molvi Abul’s eyes were: Shining Bulging Small Narrow
15 | How much was the cost of the Persian carpet? Rs 1432 Rs 1332 Rs 1532 Rs 1632
Choose the correct form of verb from the columns A, B, C and D and fill up the bubbles:
S.# Questions A B C D
16 | He seldom the targets. Miss Misses Missing Has missed
17 | Uneasy lies the head that the crown. Wear Wears Will wear Wore
18 | Ahmad prayed that he live long. Would Should May Might
19 | youid have made edcaton fee. | Was | Were | Had | Hasbeen
20 | Work hard lest you fail. Would Should Can could




Model Paper - Intermediate Part First - 2024 & onward

ENGLISH (Compulsory) (Subjective Part)

Time: 02:30 Hours Marks: 80
SECTION —1
. Write short answers (3-5 lines) to any SIX questions in your own words from Book-I: (Short Stories) 12

(1) Do you agree with Mr. Steward’s claim that Norma did not know her husband?

(i1) What was the condition of the Bittering family on hearing the news of war on earth?
(i11)) Why did Mr. Manana accuse Hubert of picking up the lost pocketbook?

(iv) What arrangements were made on the function of the inauguration? (The Reward)
(v)  What should be the role of a Qazi?

(vi) Why was Margret worried?

(vil) What should be the quality of the veterans of creative sufferings?

(viii) What factors increase the worries of Maulvi Abul?

(ix) What does the overcoat of the young man signify?

. Write short answers (3-5 lines) to any FIVE questions in your own words from Book-III: (One Act Plays) 10
(1)  What does the name of General Powers signify in the play?

(i) What is the theme of the play, ‘Visit to a Small Planet?’

(i11)) What were the rumours about the flying object?

(iv) What is Kreton’s opinion about human emotions?

(v)  What is Harry’s philosophy of life?

(vi) Where had Clark Larrabee been?

(vii) What is Harry’s plan about the Oyster?

(viii) What does the play, “Oyster and the Pearl” signify?

. Write short answers (3-5 lines) to any FOUR questions in your own words from Book-III: (Poems) 08
(1) What lesson do the rich leaves convey in the poem, “The Rain?”

(1)) What is the symbolic significance of Cherry?

(iii)) How does the poet depict the plight of the Sindhi Woman?

(iv) What does the traveler see in the desert?

(v)  Why does the poet call the modern men the hollow men?

(vi) What is the dream of the poet in the poem, “The Delight Song?”

SECTION —II
. Write a letter to your father explaining the reasons of your failure in send up test. OR
Write an application to the principal of your college for the refund of library security. 10
. Write a story reflecting/bearing the moral:
“Haste Makes Waste” OR “Kindness Never Goes Unrewarded” 10
. (a) Explain the following lines with reference to the context: 05

Nothing behind remains, Round the decay
Of that colossal wreck, boundless and bare
The lone and level sands stretch far away.

(b)Punctuate the following extract: 05
the town is empty but we found the native life in hills sir dark people yellow eyes the martians

(c)Use any FIVE of the following pair of words in sentences of your own: 05
(1) Aural , Oral (i1) Bored , Board (ii1) Diary , Dairy (iv) Medal , Meddle
(v) Prey , Pray (vi) Reign , Rein (vii) There , Their

. Translate the following passage into Urdu: (Short Stories Book-I) 15
“It will be a great favour”, the king said. The sergeant ordered the slave to be thrown into the
water, so that he could have experienced the true danger of life. Two persons threw him in the sea
and when he was about to be drowned, they pulled him back to the boat and he clung to the stern
with both of his hands. Then he sat down and remained quiet. This appeared strange to the king, who
could not comprehend the wisdom in the action taken by the sergeant, and he asked for it.
NOTE: English Medium / Foreign candidates will write an essay on “Inflation”.

This Model Paper has been unanimously approved by all boards paper setters.
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